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MATHEMATICS - ( 71T )

THY : 3 °eT 15 fiee Ui : 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

Ul B el =T : 47

Total No. of Questions : 47

e & ford A -

Instructions to the Candidete :

1. Tl I U Iesl § & ST <

Candidates are required to give their answers in their own words as far Practicable.

2. Sl AR BIRA W Y gV o pfe fafde axd €|

Figures in the right hand margin indicate full marks.

3. ol g aifvaty €

All Questions are Compulsory.

4. 39 UUS B UGH @ fov 15 e @1 afaRed a9y foar mar 2|

15 Minutes of extra time have been allotted for Candidates to read the Questions.
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SET-1
el IR YA

Choose the correct option

1. A ax? +bx+c =0 % 79d G & a1 Ffafed & o9 9 § ? 1

If rootsof ax? + bx + ¢ = 0 areequa then which of the following is

Correct ?
(@) b? = t+4ac @ b? = 4ac
(m) b* = 4c @ b%=4a

2. IR x?+3x+12=0d x & 99 =feRad § 9 @i & ? 1

If x2 4+ 3x + 12 = 0 thenvaueof x will bewhich of the following ?

(®) gt (Integers) @ M= E=nm (fractional No)
(M auR#g d@  (Irrational ) (@) 9rdfdd 920 (non real)

3. U gd &I UNAY U4 &3hel a)16R Bl 1 ga I e gl ? 1
If the perimeter and area of circle are equal then radius of circlewill be ?
() 2 Ed (2 units) (@ «9ES (Pie units)
() 4 936 (4 units) @) 7 9@® (7 units)

4. 2,3 4,5 6 HgD BN ? 1
Medianof 2,3,4,5,6is?
(®) 3 @ 3
(m) 4 @ 5

5. g @ Ja¥ g1 WllqT Bl & ? 1
Longest chord of circleis?
(® = (arc) (
() @i (cord) @

€}

™ (Diameter)
T ¥ @18 T8 (None of these)

PN
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6. X-3® & fAcea g g ? 1

Co-ordinate of X-axisis?

(®) (x,0) @ (0,y)
() (0,0) @  (x,y)
7 28 o a2 :
cos 32
The value of 2s1n 58°
cos 32°
(@) 1 @ o
mo G
8. ol gcRl @ wRkiearet &1 arr g8 ? 1
The sum of Probabilities of eventswill be ?
(@) 0 @
() 1 @) 2
9. TP W H RGP NGO $T YD &Y 2 7 1
The standard form of one variable linear equationis ?
() ax+b=0 @ ax=5»b
() ax =—b+c @ ax>b
10. IR V3 secH = 2 @ O &1 7 2 ? 1
If V3 secO = 2 then 6 will be?
(@) o @ 30
() 45 @ 60
R IMT T el SR § [T N -

Fill up the blank with correct answers: -

11. & Y @l & e=bal BT U SHb! WA JoTdll @ ......... & U @ SRR BN
g ? 1
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

The ratio of areas of two similar triangles are equal to the ratio of the...... of

corresponding sides ?

Themedianof 1, 2, 3,4, 5is.........

sin50° + cos40’ = 2cos........ 1
tan(90" - 6) =............ 1
forsfl g0 o T ¥@lL........ favg W el el B | 1
The tangent of circletouchesad........... point.

A.p BT JTA=R GAHD, FOMHAB AT e 2 qad § 7 1

T8 FHIBRT [T BIg A T Bl e HEAT ¢ | 1
The equations which hasno any solution iscalled..........

M BT T T ETDA oo Bl 2 | 1
The total surface area of hemisphereis............

fgamd 9gue 91d o e e /3+1 W@ 3-1 B | 2

Find quadratic polynomial which roots are +/3+1 and ~/3—1.

%,% aﬁ?%?ﬁrwwaﬁ%i}%ﬂﬁwwzx—3y=8sﬁ? 4x -6y =9

T g AT I | 2
Comparing ﬁ,ﬂ and & thelinear pair of equations 2x — 3y = 8 and

a, b, C,
4x — 6y = 9 are consistent or inconsistent.

<l AN GTCHD Uil BT Ul 240 & | 39 fgurd dlexel & wu H ford| 2

Product of two consecutive positive integersis 240. Write it in the form of

guadratic Equation.
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24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

Td fd5 | P(6, —6) @1 3 Mapred | 2
Find the distance of point P(6, —6) from the origin.

3 —
g @ (Prove that) e 0-1_ 26+ tano 2
tand -1

336 3R 54 B Ifdere oM YoM fafer Howo Mared | 2
Find HFC of 336 and 54 from Euclids division algorithm.

3 B H UAP BT AT 64 cm® B B Aol Weld! BT AAHR O IR TR/ B
YT &AM BT IS &5hel e | 2

Two cubes of each volume 64 cm® added adjoining edges to form cuboid.

Find surface area of cubiod.
T & 77 § PA SR PB 99 @ 9u v@l § a1 CAPO=30'dl CAOB=? 2
In the given figure PA and PB are tangents of the circleand CAPO=30°

a @ A Mare afe (a,2) R (3,4) 3 9@ @ ) 8 IBE 2| 2
Find thevalueof a if distance between (a, 2) and (3, 4) is 8 units.

I o 3R B fGUd IgUE f(x)=ad+bx+c f(X)=ax +bx+cd I & Al a?
+ 32 @1 A (Aar | 2

If o and B isZeroesof f(x)=ax*+bx+c.find a?+ 3.

2,5, 7,9, 10, 15 T A Ml | 2
Find mean of 2,5, 7, 9, 10, 15.

Rig @ fb 3+245 To 3URAY T & | 3
Provethat 3+2./5 isanirrational number.

fgam AfaRe 2x2 - 7x+3=0 & T oI | 3
Find the roots of the quadratic equation 2x*-7x+3=0

U% A.P.H a=5d=3a,=50 1 nTd S M| 3
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35.

36.

37.

38.

39.

40.

41.

42.

Findand A.P. nand S, if a=5d=34a,=50

a1 fag (5,-2),(6,-4) AR (7,-2) THigag » & R & ? 3

Arethe points (5,-2),(6,-4) and (7,-2) verticesof isoceles a?

Bt 1 st BC, CA iR AB @ % D, E, F 7 fivg § o &DER) o

ar (a ABC)
N | 3
D, E, F are mid points of the sides BC, CA and AB respectively of » ABC
Determine ar(aDEF)
ar(aABC)
. 1 _
7§ @ (prove that) Pk ARl 3
I tan2A=cot(A-18") TRIA ADI §| AFI AF M | 3

If tan2A=cot(A-18") where A isan acute angle Find the value of A.
A & i de1 @1 ey SR ATedd HAeE 26.8 3R 27.9 B A1 98D Malel | 3
If mean and median of symmetric distribution is 26.8 and 27.9 then find

mode.
0.6 D IRYY AT B IV B § e I | 3

Express 0.6 as rational number in simplest form

ﬁﬂﬂﬂ@l@@%cﬂcﬁ&ﬂﬂﬁ%%lﬂ@ﬁﬁﬁl 3

Sum of number and itsreciprocal is % Find the number.

f&d T IRIRAT G BT TFoAD T BN | 3
Calculate the mode of the given frequency distribution.

CUI SR 10-25 | 25-40 40-55 55-70 70-85 | 85-100

C.l
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fenfolat &1 e 2 3 7 6 6 6
No. of students

43. %1 fafer | g & (Solve graphically) :- 5
x-y=1
2x+y=8

44, I 3 W TH US T W & SR T A AT 9 YR Jg Il § b U bl RIER
S B B T 8 SR YA & AT 30° BT BV GG & | US DI UG g DT
W8l Us &l RIer Sl &1 ga @ 8 o &, I Us @I $drg [l | 5
A tree break due to storm and the broken part bends so that the top of the
tree touches the ground making an angle of 30° with ground. The distance
between the Foot of the tree to the point where the top touches the ground is
8 m. find the height of the tree,

45. Rig T f TP et 3o BT 97 o < omel & it B AT B W B F 5
In an right triangle, the square of hypotenuse is equal to the sum of the
squares of other two sides.

46. U Tl Bl fHC @I Fg &I <0 14 HoHIo 2 1 39 g gRI 5 e § T &bl
fFyret | 5
The lengths of minute hand of a clock is 14 cm. Find the areain 5 minutes
covered by minute hand.

47. @1 AB=12 cm. I 3R 34 3:5% 39 H dic | 5
Draw aline AB=12 cm. and divideit intheratio 3:5.
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SRR

(ANSWERYS)

10.
12.
14.
16.
18.

20.

298 2

G}

cotd

Nr
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21, Hell BT ANMGA =g+ B=/3+1+/3-1=23
Tell BT TGS = apf = (V3+1)(3-1)
=(3)2-(®?=3-1=2
fged agu = X - (a+ B)x+ap
— X2 = (2/3)x+2

= X2 - 24/3x+2
22. 2x-3y=8 ax+by+c =0
4x-6y=9 a,x+hy+c,=0

Comparing we get
2_-3,-8

23, WM b 31 HANT AW x AR x+1 8|
YEIER, X(x+1) = 240
= X* + X =240
= X°+x-240=0
24, qd &5 (0,0) ¥ p(6,-6) I W
=\(6-0)"+(-6-0) (D=\oe %7+ (v, -7

=/36+36
=J72 =6J2 W=
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_ (tang-(tan® 6 + tan x1+1°)
(tand-1)

{a°-b° = (a-b)(a* +ab+b?)
= (tan® 8+ 1+ tan 6)

=sec’d+tand=R.H.S

L L.HS=R.H.S
26. 54)336(6 gfders fawror fafer
324 336=54x6+12
~ 12)54(4 54=12x4+6
48 12=6x2+0
6)12(2
12

X

27. | b B9 ®1 U Yol =a cm
wv=a’
[64F a°
a=¥64=4cm
TEARIR, WX &1 Bl I felid) B 1T 77 & |
dIeIs = 4cm+ 4cm=8cm
YA &1 gS & = 2(Ib+bh+1h)cm?
=2(8x4+4x4+8x4)= 2(320m2 +16¢m? +320m)
= 2x80cm’ = 160cm’
28. feargame
[AHO = 30
- OA AP (W7 )

L T®AP =90°
[TAOP =180 - (90" +30)
=180 -120° = 60°

[AOB = 2x60" =120
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29.

30.

31.

f3ar 2 A(a 2),B(3,4)
N =8HAS

AR B & 91 & 30 =/(3-a)’ +(4-2)°

8= J3-a)7+2 {D:\/(><2—><1)2+(y2—y1)2
— 8 =(3-a)’+4
= 64-4=(3-a)’
— 60 = (3-a)’
—=3-a=+/60
—3+/60=2a
[ad (3+/60)
A o v g RO aguE axt+bx+c ® TS B
b

Iﬂﬁ:%, aﬂ=§

a’+p’=(a+p) -2xp

_ b*-2ac
=—

Ca’i+ B?

fed ™ 99 2,5,7,9,10,15
weEE &1 gd 4

Y (X) =  @a wer
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32.

33.

34.

_2+5+7+9+10+15
6

X=8

a1 f 3+2/5 TE IRAY W0 B |

Eﬁ:ﬂTﬂT3+2\/—=% 32\/‘:%_3 N

7E URAY AT § W /5 U QURHY W B | TET AR § 1 a1 3+ 245
TS URWT T © | (TRAT T SRER wRearalf b1 a1 JruReR WRedT B 8 )

foar mar fgama e
22 -7x+3=0

a=2b=-7,c=3

D =b®-4ac=(-7)°-4x2x3

=49-24=25

:—bi\/B

2a

X

_~(-7)%/25 _7%+5

2x2 4
:7+55222:31
4 " 4 4'4 2
1
L =3=
qol 2
AP ¥ fear gom @
a=5d=3a,=50
a,=a+(n-1d

=50=5+(n-1)x3
=50+5=(n-1)x3
=45=(n-1)x3
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45
=—=(n-1
3 (-1

=n-1=15
=n=15+1=16
n=16

S, :2{2a+(n—1)d}
1—26{2><5+(16—1)><3}

= 8(10 + 45) = 8x 55 = 440
n=16, S, =440,

3. P9 & ¥ W RNl & gaR
AB = /(5-6)? + (=2 +4)?
- Vira=y5
BC = /(6-7)2 +(-4+2)?
=J1+4=15 3P7

[AB = BC

.- aABC THEATE B |

A (5-2)

B (6,4) C (7-2)

3.  dfd D R E T BC 3R AC @1 77 fag B |
[DE|| AB

(i) &R (ii) =0
AFDE &R BDEF Td WARR aqH ¢ |

[THDF = [AXDHF = [B]
[DEF ~aABC

1 2
(2{sDEF) _ (DB) _ (2 AB) _(1)2

ar(,ABC) (AB?  AB?
=14
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37.

38.

39.

40.

1
secd -tand
_ 1 ><sec0+tan0
secd-tand secld+tand
_ secf+tanf _ secd+tand
s H-tan’d 1
=secd+tand=RH.S
(-sec’f-tan’ G =1)

LH.S=

LH.S=RH.S.
fer gam 2
tan 2A = cot(A-180")
<[ I E |

— COt(90" — 2A) = cot(A-18)
— 90" -2A= A-18 {-~tan@ = cot(90° - 8)
=90 +18 = A+2A
=108 =3A
= A= & =36

3
A3 36
fear gam 2
el = 26.8
eI = 27.9

dgelh =3 HEIDh -2 HEY
=3%x27.9-2x26.8

=83.7-53.6
=30.1

[9geTd = 30.1
AT
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41.

42.

x=0.6

= 10X = 6.66..........(ii)

(i) ¥4 (i) oA W
9Xx=6
6_2
X=—=—
9 3
x32
3
e forar f& O x g1
gwag?;ﬁk%
110
YRR, +;_3
= 3x* +3=10x

= 3x*-10x+3=0

= 3x*-9x-x+3=0
= 3X(x-3)-1(x-3)=0
= (x-3)(3x-1) =0

3x-1=0
= Xx-3=0 w 3 =1
X=3 h 1
3
3T T 3 AT % .
T NI faerfofat @ do f
10—25 2
25—40 3
40—55 7
55—70 6
70—85 6
85—100 6

JE! |alfOd JRARAT 7 S 40-55 9 H T | 3 95D T 40-55 B |

[I=MO,f,=7,f -1=3f,=6,i =15
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43.

44,

f,—f -1

dgald (M) =1 +

a0s_ 173

2f,— f-1-f,
x15

2x7-3-6
- a0+ 2415
5

= 40+4x3=43
[M] = 43

fer T aff@e
Xx-y=1

=>y=x-1

(0,8)

Y=8-2X

A-¥Y=1

UH W B oW & b <1 @ (3,2) Ue ¥R Bl Predl 8| 3 x=3,y=2

a1 {6 US @1 918 AB,P ¥ TT IR

YA @ c g W BdT | AP=PC=x

4 & 9T [PAB=30" &1l 2|
BC = 8m.

APBCH

30
B 8m. [
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fhR tan30° = —
B

_1_PB
J3 8
:>PB=i

3
(aR=Ap=pp=10, 8 _10+8

B BB

2 A
NERINE

LTS 31 $a7E =8/3m

3m.

45, AH forn f& ABC a6 » ® fO9H [ABC =90
3 [B 9ol 2|
& g oo 2 & AC? = AB+BC?

§qdc— BD [CAC 9|

T— AADB Ud AABC H

LADB = ABC =90
[A3 [Al

[2ADB ~aABC (AAT)
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46.

47.

_AB
AB AC
= AD.AC = AB°........... (i)

S YBR AaBDC ~a ABC

CD _BC

BC AC
— CD.AC = BC2.............. (ii)

(i) AR (i) BT T R

AD.AC +CD.AC = AB? + BC?
— AC(AD +CD) = AB? + BC?

a1, ACAAC=AB’+BC?> (- AD+CD = AC)

[AQ? = AB? + BC? Jg! g &eT o |

-+ 60 T 31 g 360° BT BIVT I 2 |

oo v 380 oo
60
5 " " 5x6=30

e @1 9§38 @ oW1g (r) =14cm

2
5 fire ¥ G g7 7 o=10
360
22x14x14x30°
= cm
7x360
_2x14x2
=————am
3
_ 616

E S cm? = 205.3cm?.

(i) AB=12cm. W]

(i) [BAX = [ABY G|
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(i) AB @I 3+5=8 TR T H (A..ooeee.... A) e oe |
S A BY B 8 TR AN H (B, Byeveeeeee. B,) fawad ¥ |
(iv) A®I B ¥ MaT 1| I8 AB @I P a5 W dredl 2|

AP =45cm U9 PB=7.5cm.
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MATHEMATICS - ( TTF1d )

THY : 3 °eT 15 fiee Ui : 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

Ul B el =T : 47

Total No. of Questions : 47

e & ford A -

Instructions to the Candidete :

1. Tl I U Iesl § & ST <

Candidates are required to give their answers in their own words as far Practicable.

2. Sl AR BIRA W Y gV o pfe fafde axd €|

Figures in the right hand margin indicate full marks.

3. ol g aifvaty €

All Questions are Compulsory.

4. 39 UUS B UGH @ fov 15 e @1 afaRed a9y foar mar 2|

15 Minutes of extra time have been allotted for Candidates to read the Questions.
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TIME-3H 15 M Set-02 F.M.-100
THY —3 °el 15 e

quiid—100

Q:@f 3TN ]%'I_@f (Choose the correct Answaer)

1. 7 &l 1

(a) URHT T (b) JURHY HET () TRHI SR URAT ST (o) T H=T

T isa
(a) Rational Number (b) Irrational Number (c) Rational and irrational both (d) Integer.
2. frafeiRaa § @ A 3T FE&T © 2 1
Which of the following is a prime number ?

(@) 10 (b) 7 (c)15 (d)9

3. f3OTd 98U x-sx+6 B LID T | 1
Which is Zeros of Quadratic polynomial x>-5x +6

(a) (-3,2) (b) (-1,-2) (c) (3,-2) (d) (3,2)

4.?Tf%{€|_§,”qﬁx2-x+1iﬁ3]fﬂfﬁa,,G?f?ﬁlféfb—[‘ﬂ?%l 1
a
L 1 1
If Zeros of polynominal x*-x +1 are @, [ thenvalue of —+, E is
a
(@) -1(b) 1(c)o(d)2
5. ST ABcH AC’=AB’+BC’ T LB @ 1

An /\ ABCAC?>= AB*+BC*then LB is

(a) 75° (b) 60° (c) 45" (d) 90°
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6. Ui T 3ifddhad a1 2T 2| 1

Maximum value of probability is

(@)0 (b) 2 (c)1 (d) -1

7.185 (4,-2) 3R (6,4) T AT XE@ETS & A4 &1 Fced R 1
The Co-ordinate of mid-point of line-segment joining (4, -2) and (6, 4) will be
(@) (5,3) (b) (51) (c)(5,2) (d) (-1,2)
8. sin (90°-A) SRTEX BIT ¢ | 1
Sin (90°%-A) is equal to
(a)SinA (b)-SinA (c)-CosA (d) CosA
9. 9 & URM Td AT BT 3JUTd &Il & | 1
The ratio between circumference and diameter of circle is

(a)1: T (b)1:2 (c) /m:1 (d) 2:1
10. UM UrT A9 et &1 A1y 2— 1

The mean of first five even numbers is

(@)6 (b)4 (c)5 (d) 8

11, T TG JH T .o gl BIl B | 1
The solution of pair of consistent equation is................
12. Qb 4ac>0 TN ax’ +bxrc B A o BT | 1
If b>-4ac>0 then roors of ax’ +bx+c are...........
13, AE—qd D URMA...ooooo Bl & | 1

https://www.evidyarthi.in/



15. Cos®17°-Sin>73°dT HIT . €I‘I | 1

The value of C0s?17°-Sin? 73°% iSeeueevveeeeennnnn.

16. QH (g B B FAsSinQ & AT H oo Bl 2 | 1
The value of Sin Q............... as & Qincreases.

17. RIP THIGRT x=5 BT ARG ¥ T B BT B | 1
The Graph of a linear equation X=5 iS.........co........ to Y axis

18. IS AP, BT UIH UT a 3R FAFIR d BT TSN = g | 1

19. T THIG BT BIT B Lo 1
All equilator triangle are.........cccccvvvvvieeeeennnn.
20. URHY 3R JURTY FEIRN BT TG ... Bl 2 | 1

Product of rational and irrational numbersis ........ccoceeeeeeeviirinnnnne.

21, ool fgameT 918U & Y[RI® —2 Ud —5 81 Al 9gU8 A1 v | 2

Find quadratic polynomial if their zeroes are -2 and -5.

22. I fgaTd FHIBRYT & Hell BT ANTBe AR [UFH HAL: 1/4 T4 1/4 8 ol
feemd THieRoT e | 2

If the sum and product of roots of a quadratic equation are 1 /4 and 1/4 respectively. Find

quadratic equation.

23. PP b A @ U pxe2y=5 3R 3x+y =1 BT BT g B | 2
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For what value of P px+2y=5 and 3x+y=1 have unique solution.
24, TETT FHIERU 2x-6x+3=0 & Hall I Ul FabTed | 2
Find the nature of roots of quadratic equation 2x*-6x+3=0.

25. F3¥ST ABC H Ac=6 v/ 2 cm, AB=6 cm, BC=6 cm T ....... B BT A fHTel | 2

In triangle ABC Ac=6 \/_2 cm, AB=6 cm, BC=6 cm then find ...... B.
26. I 145 P (2,-2) 3R (2, 2) B MATATE WIRIvE & HeATdg ebTed | 2

Find the mid-point of line-segment joining two points P (2, -2) and Q (-2, 2).

27. {37 g3T & 6 A ABC ~ ADEF T §70 &3l HAY: 64 cm” 3R 121cm’ & |
IfT EF=154 cm B I BCFTT BN | 2

Given A ABC ~ ADEF and their areas are 64 cm” and 121 cm? respectively. If EF=15.4

cm then find BC.
28. T[S &1 & abTel a1 ¥ (3, -5), (7,4) &R (10,-2) % | 2
Find the centroid of triangle which vertices are (3, -5), (-7, 4) and (10, -2)
29. AT cosA=3/4 Alsin A TG Cot A BT A {aIet | 2
If Cos A =3/4 then find the values of sin A and Cot A.
30. 2 Cot 245°,Cos230°+Sin 260° BT A FdTe | 2

Find the value of 2 Cot245°,Cos?30°%+Sin260° .

31, AP:3, 8, 13, 18, —--rrroemmeees D P AUS 78 T 2 2
Which term of A.P 3, 8,13, 18 -------—---- is 78.
32.89g B & 15— 3 T% IURTY T 2| 3

Prove that 15—\/_ 3 is anirrational number.
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33, U fafer 4 8, 9 3R 25 &1 H0 |0 fF¥ehred | 3

Find H. C. F. of 8,9 and 25 by Factorization method.

34. 1 G T &0 |0 3R {0 {0 AT 20 3R 5 & TAT TAA W& 5 & Al Ugell
T e | 3

L. C. M. and H. C. F. of two numbers are 20 and 5 respectively . If second number is 5 then find

first number.
35. P AIM MaTel AfS U gU FHIeRYT &1 4o §9H 2 | 3

Find the value of P if following equation has equal roots.
3x%-5x+p=0

36. 3Thfc H 0A0B=0coD T g &N b Ca= [c

3N CB= LD 3

In given figure OA OB=0C OD then provethat [A=[C& [B= L[D.

37. T8 B @1 &% (al e et & RS (3,4), (4,3) AR 8,681 3
Find the area of a triangler of which vertices are (3, 4), (-4, 3) and (8, 6)

38. Sin (90 °-) BT AR U AT g | Fared | 3

Find the trigonometrical ratio of Sin (90 °-Q) by geometrical method.
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39. Y &1 U §R B@HI AT 8| 4 | BIS IT I aR9% G U B B HTiydham
fFepTed | 3
A die a thrown once. Find the probability of getting the numbers equal or less than 4.

1-SinQ

40.%@ EIO_Q rove that ), SecQ-tanQ) %=
(p ), | ) 1+5nQ

41.91¢ faRT 40, 15, 15, 18, 22, 29, x, 32 y =T 29 Pl HIEY 25 ?ﬁx+y5b—[ A el 3

Find x+y if A.M. of distribution 40, 15, 18, 22, 29, x, 32,y and 29 is 25.

42. 9T d Farel (Find median) 3
T ST 40-45 45-50 50-55 55-60 60-65 65-70 70-75
C.l.
EIRCING]] 2 3 8 6 6 3 2
f
43, TTHRT fafd 9@ Rl ?ﬁl (Slove by graphical method) 5
2x+y=6
4x-y=4

44. U REAMT BT AT 3.5 cm Tel TF ¥ @ MER BT & ol S BT Il T
&Ml TR ARG 8| Racl T &7 FU0f $a1E 15,5 cm & a1 Rael=1 &1 G0 I
G e | 5

A toy having base in the shape of cone of radius 3.5 cm which is surmounted by a hemisphere of

same radius. The total height of toy is 15.5 cm then find the total surface area of the toy.
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45. U FHAA S TR TSl AR I BTIT 40 A0 A0S =T & SR & od G A
ST 10T 60° W 30° B W & | HHR BT ST el | 5

The shadow of a tower standing on a level ground is found to be 40 m longer when the Sun's altitude

is 30° than when it is 60’. Find the height of the tower.

46.77f< T ST | T PIT TR YW T P17 & RGN & AR AL &7
Br[e ey 8| Rig Y | 5

If one angle of triangle is equal to one angle of the other triangle and the sides including these

angles are proportional, then the two triangles are similar. Prove it.

47.WW%ABCWWBc:kmAB:scm.Wﬁ[ﬂﬁiﬁwﬁ[ﬂﬁm
o aITg & T Brgat &1 ol &1 573 T & 5

Draw a right trinagle ABC of which BC=4 cm, AB=3 cm. Draw a similar triangle which sides is 5/3

times of given triangle.
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3TN (ANSWER)

1.(b) 2. (b) 3.(d) 4. (b) 5.(d) 6.(c) 7. (b) 8.(d) 9.(c) 10. (c) 11. Udh 12. dIX< GG 3ﬁ? NIRRT 13.

n
7r. 14 AR 150 (I) 16. GG 17. THIR 185,= 2. [2a+(n-1)xd} 19. FAHY

20. JURAY

21.?jfﬂ‘cﬁ?ﬂw =+ f=-2+(5)=-7
YRS BT PAEA = g B =-2x(-5) =10
%ﬂﬁﬂ‘g’%’ =X -(a+pB)x+a B
= x> -(-7)x 10

= x> +7x+ 10

22. 9l BT I =:11

el BT oD =

N

fgard TR = x>~ (el BT ARTHA) x+ Al BT TOH =0
= xz-(%)x+1/4=0

4y’ - x+1
= 4 =0

= 4x%-x+1=0
23. px +2y+5 aiXx+byy+c,=0

3x+y=1 ax+b,y+C,=0
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a_b,
a. D,
P 2
=>—=—
3 1
=P=6

D = b%-4ac = (-6)* - 4x2x3 = 36-24 = 12

D>0 Hel gRidd 3R SFFAM B |
25.T%|’ﬂTr[ABcff

54'_2““

6cm
AB*=(6cm?) =36 cm’
BC®= (6 cm’) =36 cm’
AC*= (6 2cm)?=72em’
L AB?* BC? =36 cm*+36 cm?® = 72cm? = AC?
* AC’= AB” +BC’

3d: ABC Udh AP %I [B=90°

26. A U 145 P (2,-2) 3R Q(-2,2) P, BT AT XERETE &1 7ed fig
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:(2+(—2)'—2+ zj:(gigj:(o’o)
2 2 2'2

27. feIT & A ABC~ A DEF

ar (AABC) _ BC?
ar (ADEF)  EF2

L

64cn? BC?

" 121en? (15.4cn7)

64cm?X (15.4)° crr?

LBC? = >
121cm

64cmEX (15.4)° e
coc- (XSS
121cm

8X15.4
11

cm =8X1.4cm

=11.2cm

28. BT @& MY (3,-5), (-7,4) 3R (10, 2) DD (x,y)

c= Xt Xot Xs YY",
= y_
3 3
_3+(-7)+10 _-5+4+(-2)
3 3
:§:2 :__3:_1
3 3
BED =(2,1)
29. CosA =§
4
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. 7
SinA= —
4

30. 2 Cot 245% Cos ?30°-Sin 2 60°

= 2x(1)" - (?T + (%}2

= 2X1—§+§:2
4 4

31. AP: 3,8, 13,
a=3, d=8-3=5,a,=78, n=?
" a,=a+(n-1)d
=78=3+(n-1)x5
= 78-3=(n-1)x5

= 75=(n-1)x5
(n-1) = E =15
5

n-1=15
L n=15+1=16

n=16

32. /T 5 15—I:EWWW%W§J§WW%|

37 I8t favem 2 |
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TRIY 3R SURTT FAT BT 3R SIRYY Bl & |

[ 15- /3 U JURAT T ¢ |

33. 8=2x2x2x1
9=3x3 x1

25=5x5x1

I:H.C.F.(8,9,25):1

34, UgAl AT x Y 0 = &0 HOx HO W0

Ugoll 9T = ¢10 90 x 90 90

AR W0

20x5
= =20
5

35. 3x°-5x+p=0
a=3,b=-5,c=P

D=b?%-4ac=(-5)%-4x3xP=25-12P

4 Rar g w81 Lo-o

L s 1p-0am12p-25 EP=%

36. faaT % OA .0B = 0C.0D
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D B
[ OA _OD

oc 0B

A AOD A COBH [ AOD= [ COB (HH@ I B ¥)

qr 98 .90 Ry
oc OB

LA nop - A cos
L ca- ccv o= s

37. 701 & Wl & [R5 (3, 4), (-4, 3) T (8, 6) % |

Pt a1 &t <5y, y) (Yo v+l y, V)

=E[e,(s— 6) + (~4)(6-4) +8(4—3)]‘

:‘%[3(—3)—4x2+8x1)]

=E[-9-8+8x1)] = %xg

=45 97 SHTS
38. AT fdb ABC Uh THBIT A 2|
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[B=90° [c=q(H

L CA=90°-Q

SinQ= E
AC

Sin (90°- Q) = i—g ............... (i)

(i) 3R (i) sin (90°- Q) = Cos Q

39. OId U BT U gR el Ol 2 al 4 IT 4 W BIS) G&T =1,2,3,4 8T |

U™ IR UTS el 90 = 6

L 4o, ﬁ‘aﬁﬁwﬁﬁaﬁmﬁaﬁhg:

2
1 Sin
40. L.H.S :(Squ—tanq)Z:(Cosq_Cost

_(1-Sing 2=(1—Sinq)2 =(1—Sinq)2
Cosq Cos’ q 1-Sin’q

(1-Sing)x(1-Sing) _ 1-Sing

= =RH.S.
(1+Sing)x(1-Sing) 1+Cosq

winN
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EL.H.S =R.H.S Proved.

41. WY = TN BT Gl AT

ESREC

= 25= 40 +1.5+1.8+2.242.9+x+3.2+y+29

9

—=> 25x9=185+x+y

= 225-185=x+y

= 40=x+y
I: Xx+y=40
42.
I JRTA (C.1.) IRARAT (F) | ol IRERAT (CF.)
40-45 2 2
45-50 3 5
50-55 8 13
55-60 6 19
60-65 6 25
65-70 3 28
70-75 2 30
N=30
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30

3q AT 91 55-60 2|

I: | =55, c.f.=13,f=6,i=5
E—c.f
AqH = | +-2 f xi
:55+15_13x5:55+§x5

:55+%X5=55+l66:5666

43. 2x+y=6

=>y=6-2x

%_ = =15, 9% W IR 19 B SR T & TP -9riier 5560 ¥

4x -2y =4

= 2y=4x-4

= vy= 2X-2
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T | BH WA ¢ (& 3l Wl Wl U6 gAY B a5 (2, 2)R Fredl & |
3. x=2, y=2

44. RIAHT Br W uﬁ'l_?z& =15.2 cm
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15.5 cm

T

3.5 cm N/

Vv

3T =3.5cm
UH DI HAT = 15.5cm-3.5 cm

=12 cm

i @ R = Jh?+17 = f127+(35) om

=144 +12.25cm = +/156.25cm = 12.5cm

Racl &1 /YU U &0 = SAGIIel $T Gb U3 &0, + ¥y Bl IHYS &0
=2 c+mr= mr(2r+l)

22 ,
=—7-x&5(2x&5+125):22x05(7+115km

=11x19.5 cm? =214.5 cm?

45, 9719 foram & ag T9R 2 fSRT8! $aT8 hm 2|
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1] [1]
60 30

5
o

BC UHR @ BT 8| BC=x AT
BD = (x+40) m
A ABCH

tan 60° = E =
BC

olo

= B:D:>h:x\/§:>x:L

X NE
46. 919 foram & B[S asc Td S Der
A D
VANIVAN
/N
39 UBR & b
EA=ED@$=%
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?ﬁﬁl@W%\'ﬁﬁAABc ~ A DEF

gIdc:— A ABC H ABW AM = DE O AN =DE PIC QETMHQJTN?ﬁ Sl |

T .- A AMNTUd ADEF® | R
AM= DE ( §9TdC 9 )
AN =DF
C a= Co (A @)
L A AvN ~ A DEF (sas )
L CAMN= CE, CANE = CFo (i)
frry AB_AC
DE DF
AB AC ..
2 = (- DE=AM, DF= AN)
AM AN
= MN||BC

— [M=[BUd CN= [C
Wg () 4 Cm= CEUd LON= LCF
E [B= CEAQYUT Lc= LF

31 A ABCUG A DEF H
Ca= Co (fear )

[B= [E, [C=LCF(INWI)

L A ac 7@ A per FEFSING T
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LAavn-~a DEF (AAA )

BRIIER]
47. %ﬁ%ﬁ%‘ﬂﬁaﬁﬁﬂﬁﬁamwmmﬁg‘éﬁlmﬂ%wﬁw A§|

Th GBI SR Il 2 |

() BC=4cm Gl |

(i) 1975 B TR 90" T BIVT GIRIT | AB =3cm BICT| A A C BT ARAT| ABC Ud
LGN

i) BCH U¥ A & T 3R
U LAV T g3 U [R0T
BX Wi |
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(iv)5(§ﬁ53ﬁ?3ﬁﬁa@) favg

By, By, B, B, Ud Bs, BX

W 39 TR 3ffed fdar e
BBy, = By By, = B, B3 B3 Bs-

3435ﬁ |

v) Bs(éﬁwﬁigﬁSOﬁﬁ?Bﬁtﬂ’&)

@ ¢ I AR T 8, A BBY AT B,C

T TR U XY dolgl TN XYgUs

BC B ' W Uliwes Bl gg Wil |

(vi) C'¥ BIGR SIATell cA & FATR b V&1 9314 TR YEIRGUS gA Bl A' TR Hfaesg dxll
g3 Wi |
AR cr B AT A ABC HT AT

EA ABC ~ A A'BC!
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MATHEMATICS - ( 7Tforq )

THY : 3 HeT 15 fiee Ui : 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

Ul B el =T : 47

Total No. of Questions : 47

e & ford A -

Instructions to the Candidete :

1. Tl I U Iesl § & ST <

Candidates are required to give their answers in their own words as far Practicable.

2. Sl AR BIRA W Y gV o pfe fafde axd €|

Figures in the right hand margin indicate full marks.

3. ol g aifvaty €

All Questions are Compulsory.

4. 39 UUS B UGH @ fov 15 e @1 afaRed a9y foar mar 2|

15 Minutes of extra time have been allotted for Candidates to read the Questions.
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Set-3
q9a -~ 3 %ieT 150 i@ - 100

Time:-3H.15M. F.M. :-100

We FY ?7) (Choose the correct answer)

1. aﬁ@WWax2+bx+c=0ﬁ,ﬁww$Wﬁ|

1
Sum of the roots of the quadratic equation ax2+bx+c = 0 will be
@ 2 ) -2 © - OF
2. arqx2p2=0 WA B | )
The roots of the equation a2q2x2-p2=0 will be
@ 2P ® & () +-2 (@ =
q ap aq p
3T T @ A U @ e A § .
Total surface area of a sphere is
() 2nr? sq unit (b) 3xr® sq unit (c) 4nr? sq unit (d) =r? sq unit
4, TA=fIRed o | DI 3Ty & °
Which of the following is a prime number? '
(86 (b) 9 (c) 15 (d)11
5. Tl 9T 95 9 90 W il wel v W o wadl § | 1
The maximum no. of tangents drawn from a external point to a circle is
(@2 (b) 3 ©1 (d) 4
6. fIgall A@2,-4) 3R B(4,-2) BT fAcTaTel var@vs & 79 fdg @ 1

The mid point of the line-segment joining the points A(2,-4) and B(4,-2) is

(@) (6,-6) (b) (-1.-2) (©) (3-3) (d) (-33)
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10.

1.

12.

13.

14.

15.

fordl 3 g geT @ TlRiedT B ®

The probability of an impossible event is

(@) zero (b) 1 (c)-1 (d) 2

1+tan®@ & 99 § 1
1+tan®@ is equal to

(a) sec’d (b) cosec®d (c) tan* @ (d) cot®@
4cosec’d - 4cot? § TR © 1

4cosec’d - 4cot® fis equal to

@1 (b) 0 (c)2 (d) 4

forsdY offers. @& i W Ud =W A & 3R @1 Bl ol @ 1
(8) TR (b) T A (c) T (d) ¥ | @3
el

The difference of maximum value and minimum value of a data is called

() Range (b) Class Inverval (c) Mid Point (d) None of
these

R el @l il Jav g/vl gv] W/ (Fill up the blanks with correct answer)

T BT AT TGUR o HEA 3 | 1
The polynomial of power two is called ...................cceeeneen.

1 G FITEH B TS FABT o R & | 1
Two circles are angruent if their .................... are equal.

45 (-4, 2) o EREINERRRI 1
Point (-4, 2) liesinthe .................... quadrant.

y-38 W ol favg &1 e BT & | 1

The Co-ordinate of any point an y-axisis.................... .

WﬁﬁﬁP(x,—y)Eﬁaﬁ ...................................... B | 1
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

Distance of P(x,-y) fromtheoriginwill be.................... .

I 26nG=1A F = o

If 2sind=1,then 8= ............

sin? 25° + cos? 25° BT A oo T 2 |

2T T £
\/Eisan ............ number
1 PrS FAFI0E 81 A1 B gl 2 |

If two triangles are equiangulars then triangles will be ............ .
fgemd ague o1 & RFa Id! &1 AT -3 3R TUMGd 2 7 |
Sum and product of zeros are -3 and 2 find the quadratic polynomial.

IS ax?-25=071 x BT A T |

If ax’-25=0, then find the value of x.

Ue wfgarg e ABC# [B=90°d Rig & f&5 AC?=2AB?

In Isocels triangle ABC, [B390° then to prove that AC*=2AB?

f45 g™ (2,3) T (4,1) & 41 @I U FIA DI

Find the distance between the pair of points (2,3) and (4,1)

Th 6cm BT 9Tl Frsgde o gRAY Mared Ife Boage &1 @i 60° 2 |

Find the perimeter of sector whose radius is 6 cm and angle of sector is 60°.

3,813,18....... &1 BIF 9T U 38 2|
Which term of A.P. is 3,8,13,18...... is 38.

afe tanﬁz% dl sin@+cosd & A Fared |

If tanﬁZE find Siné@ + cosé.
12
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28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

If¢ SinA=CosB AT A 3R B =JAdI0 d ¥g @ & A + B = 90°

If SNA=CosB and A, B are acute angles prove A + B = 90°.

U 35qd I IR 36 cm B T ITST A [T |

If circumference of semi circle is 36 cm find its diameter.

1 PRl & wHeY 89 @ forg ufdes @1 ford |

Write the condition for similarity of two triangles.

A TF 99 FT dF% AR IR HT A9 F9E 2 A 9 o B q@n gnfe

If the Values of area and circumference of a circle are equal, what is

the value of radius of the circle.
g o3 /2 T Ry e & |
Prove that \/E is an irrational number.

fgemd FHieRT & qa MaTel 2x2 - 24/2x+1=0

Find the roots of quadratic equation 2x° - 24/2x+1=0

TS [OWTST TAITRSA BT YANT R 135 AT 225 B HO 6O FahTet |

Using Eaclids division algorithm find H.C.F. of 135 and 225.

el a7 BT 9188 BT 4cm IR AT BT 3cm a7 SHBT &b HbTef |

The inner and outer radius of ring are 3cm and 4cm find its area.

9 B T dsd 10 I foFd 9 (3,-5) (-7, 4) IR (10,-2) T

Find centroid of triangle whose co-ordinates of vertices are (3,-5)

(-7, 4) and (10,-2).
. 4
Tl 25‘1’ ; + 3y =8

Solve

§—4y:—5
X

6 Hicx STTS dTl Udh SHedleR W9 b BRI BT 90 4m 2 Sl T9I T H9R I
BRI &I o0 28m & aI HFR &I $HATg AT |

The shadow of 6m vertical pilar is 4m, just then the shadow of tower is 28m

find height of tower.
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g BN (Prove it) 1+sing COSH = 2sech 3
cosd 1+sné

Ife sn@=+/3cosf T sind +cosf BT T fTel | 3
If Sin@=+/3cos@ then find sind + cosé .
UH AP H A=28 ,S5,=144 U9 §dl U5 9 T dI Y2M U f¥are | 3

In an AP A=28 , S,=144 and total terms be 9 then find first term.
fA=foRad §e & 927 50 B a7 x & 919 Hld |

If mean of the following distribution is 50 find the value of x .

(ajl)@;f et 0-20 20-40 | 40-60 | 60-80 | 80-100
(f) Y = > ’ -

2.4cm $ATE 3R 1.4cm M el U6 S do H A S HaT8 IR U A 5
aTell Ueh YiqaThR @il HIC fordl ST & U9 99 o & IS &bl (i |

From a solid cylinder of height 2.4cm and diameter 1.4cm, a conical cavity

of same height and same diameter is cut of. Find the surface area of the

remaining solid.
o O 9 g W — 5

Solve from graphical method.

X +y=3

2x+5y =12
Rig o & G9%U BRll & 8%l &1 U Ia! T ol & a1l @ 5
U & ARG B 2 |

The ratio of area of two similar triangles is equal to the ratio of

the squares of corresponding sides.
4R & SR W U6 el @1 H 4910 Ud 990 g0 W Rerd <1 fawgali 5
AR & RIER BT S+F DIV Rep DIV g Al AR D ATy [Hhref |

The angle of elevations of the top of tower from two points

an the ground at distance of 4m and 9m from the base of
tower in the same straight line are complementary find
height of tower.

1=
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Answer ( 9TX )of Set-02

1 2 3 4 5 6 7 8 9 10

b c c d a c a a d a

11 12 13 14 15 16 17 18 19 20
feag | B=t | fgcdfm | (0,y) ¥+ 2 30’ 1 6 IURAY | gHwY

21, DI BT INTH = -3

YIDI BT PHBA = 2

[(fgda aguc =  x2- ( TIDI &1 IAHA )x + YIDi Bl e
= x2 - (-3)x +2
= x2+3x + 2

22. 9x*-25=0

L= [2_,5
9 "3

23, HlgdIg A ABC ¥
AB=BC

UISINTIRE Yo 9

AC? = AB* + BC*

= AB* + AB* (.- BC = AB) 90°

= 2AB’ B

=LCAC? = 2AB*

https://www.evidyarthi.in/



24.

25.

26.

27.

< forgall @ 49 @1 g0

C(213) T (4, 1) & 9 & gd=+/(4-2) +(1-3)
=\2+(-2f =v4+4 =8

=22 PR

oaxgs @1 aRkemm

mwe
180°

=2r+

. 22x6x60°
7x180°

=2x%6

=12cm+ 474 cm

=12cm+ 6.25cm =18.25cm

AP:3,8,13,18, .............

a=3,d=8 -3 =5, an =38, n="?

NEl Kl a,=a+ (n-1d
= 38=3+(n-1)x5
= 38-3= (n-1)x5
= 35= (n-1)x5

= (nh-1)=7

AB =5K,BC =12K

AC =+ AB? + BC? = ,/(5K)? + (12K’

= J25K 2 +144K 2 = \[169K ? =13K

>,
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28.

29.

30.

31.

— 2, e
13 13 13
sin A= cosB

—>sinA=sin(90° - B) —=>A=90°-B

Agdd @ IR =7 +2r
=/ + 2r = 36cm (given)

=r(m+2)=36cm

:r(%wj:%cm B

:>r(22;14j = 36cm

—> 36r = 36cmx 7 =r = 3603r2><7

31 PR §99 B © afe

(i) SID FIT DIOT GRIGR &

= A+B=90°

=r =7cm

(i) S U YOI Yo B U H (GHIU) &

qd BT &% = w2 I Ihlg
qd B IR =2 EFIg
fer & g &1 &=thel &1 AH=9d 1 URR F1 4

—=>m?=2m

=>r=23P%
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32.

33.

34.

T A ofd § fb/2 U URHT &1 §
IZE:%(S;tO)

A fE r R s 713 e g Swafe e &

aﬁﬁzgulwaﬂiﬁmd%‘wsﬁaaﬁ? b 9 3T & |

[bvV2=a

IR 20% = a’

212 BT IR et & |
2002 BT Ta4TIT ST |

[Ca=0c forg wad € Wel ¢ B8 1 2 |

[2BF =42 1 b2=2?

T a AR b 7 BH A T (6 SHITS UGS 2 © |
FE! R 1w §3TT| 31 V2 U 3uRAY 2 |

2x> —22x+1=0

D= (-2v2f -4x2x1=8-8=0

~b+J/D

& 2a
_2J/2x0_2J2x0_1 1
2x1 4  J2'2
Ifaers fauTer ¥

[225=135x1+90

135=45x%x1+90
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90=45x2+0
[HIC.F =45

35, qod Pl &0

(R -r?)

(42 - 3 )em?
(16 - 9)em? = 7cm?

36. A9 forar f& B (x,y) 2

e i B & M (3-5),(-7,4) @R (10-2) R |

Ly XtX+X Cy=%tY: Y,
3 3
_3-7+10 _~5+4-2
X = y=
3 3
X:E y:i3
3 3
X=2 y=-1
s & ewa (2,-1) |
7. 243y=8 (i)
X
9—4y:—5 ---------------------- (i)
X
FHIERYT (i) BT 6 ¥ TG (i) DI 4 F 0N IR g T
ﬁ+18y:48
X
%—16y:—20
X
- + +
34y =68
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y B AE (i) /WA R

ilr+3><2:8
X
:>ﬂ=8—6:2
X
= 2X=4 :>X:ilr22
2
[ x=12,y=2

38. M f& WMR @ S 1o 2

AABC ~ ADEF

AB _BC A

DE FEF "

:>6_ 4
—=— m
h 28 B ¢ E 28m F

= 4h=6x28

:>h:¥:6x7=42fﬁ02

1+snéd N cosd
cosd 1+snéd

39. LHS. =

_(1+sinf) +cos’f _1+sin*@+2sinf +cos’d
cosé(1L+sind) cosé(1+sinb)

_l+sin"f+cos’d+2singd _ 1+1+2sind
cosé(1+sind) cosf(1+sind)

_ 2+2sind _ 2+2sind _ 2(1+sind)
cosf(1+sind) cosh(l+sind) cosH(L+sinb)
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2 = 2secld =R.H.S (Proved that)
cosé

https://www.evidyarthi.in/



40. sind = /3cos¥ A

ang = x/é———K(Iet) B ¢
AB=.3K  BC=K

AC =/ AB? + BC? :w/i«/éK )2 +K? =+/3K*+K?

V3 1 43+1

Ean0+a£0-r——+—— >

N

41, TaI =28, S.=144, n=9

AP. ¥

5= a+)

:>144z§(a+ 28)

1442 oo

= 32-28=a
La=4
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43.

42.

Ci f X fX
0 -20 17 10 170
20 - 40 28 30 840
40 - 60 32 50 1600
60 - 80 X 70 70x
80 -10 19 90 1710
2. f=96+X >, fx=70x+ 4320
50 = 70x + 4320
96 + X

= 50(96 + x) = 70x + 4320

= 4800+ 50x = 70x + 4320

= 70x—50x = 4800 - 4320

= 20x =480

:x:@:24
20

= X=24

9 BT WY IS &0 = 9 BT IS &0 + AR BT &0 + e Bl b IS Bl &0

=2mh+7m?+ ml
=7 (2h+r +1)

22

i 0.7(2x2.4+ 0.7+ 2.5)cn?’

22 7

==x—(4.4+0.7+25)cn
7 10
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44,

45.

=2 (8.O)Cm2 = EGcm2 =17.6cm’
10 100

| =Jh*+r?
= /(2.4 +(0.7)
= \/5.76+0.49

=4/6.25=2.5cm

x+y=3
y=3-x N

x| 03 ]2|1

y|[3]o]1]2

2x+by=12

y_12—2x
5

x| 11|-4]6

yl| 2140

AT 6 &1 S ABC 3R PQR 2| A P
fear g fo

AABC ~ APQR

JRig e B o

B M C Q N R
ar(AABC) _(AB) _(BC zz(C_A)z
ar(APQR) | PQ QR RP

BIFI Sl & &3hel d1d e & foly
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M AM R PN died @

ar (AABC) = %x BC x AM

ar (APQR) = % x QRx PN

1
L

ar

ar(aABC) _ X BC*AM pexam
(APQR) ;xQRx pny  QRXPN

39 AABM Td APQN H

(B3 [Q] ( CAABC ~ APQR)
[MF [N (9% 90° )
[AABM ~ APQN  (AA 9)

CAM _ AB
PN PQ

T4 AABC ~ APQR ¥

[AB: BC _CA
PQ QR RP

[A(BABC) _ AB AM oo
ar(APQR) PQ PN

(iii)
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46.

47.

ar(AABC) _(ABY _(BC Z_K%T
ar(APQR) \PQ) (QR) \RP
79 foram f $MR @ 3918 hm 2 |

[DF Qdl [CT*900-6

AABC# tan(90° - 8) = AB
BC

h
tan(90° - @) = —
( ) 4

= cotH:D @)
4

AABC #

tané’:E :>tan6’=D (ii)
BD 9

(i) x (ii) &

cotH><tanH:D><D
4 9

2

:>l=h— = h*=36
36

Ch=+/36m=6m
(i) 3cm @I a1 @1 gd G |
(i) 0 & d= 0 F 10cm=0P T oIH 39
o fova | i

(i) FHIGHTSTD fdvg M I B HFHR ORI g Gl |
(iv) I U8el 90 & A U9 B fdg W Fredl T
(v) 85 P ¥ PA iR PB & W¥ @1 il s
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MATHEMATICS - ( 7Tforq )

THY : 3 HeT 15 fiee Ui : 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

Ul B el =T : 47

Total No. of Questions : 47

e & ford A -

Instructions to the Candidete :

1. Tl I U Iesl § & ST <

Candidates are required to give their answers in their own words as far Practicable.

2. Sl AR BIRA W Y gV o pfe fafde axd €|

Figures in the right hand margin indicate full marks.

3. ol g aifvaty €

All Questions are Compulsory.

E

39 YIS BT Ugd B forv 15 fee @1 sifaRed waw foar mam 2

15 Minutes of extratime have been allotted for Candidates to read the Questions.
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(=Y

fuTa (92-4)

MATH (SET-4)
|quY : 3 "7 15 fae

Time: 3Hrs15Min. Full Marks: 100
'Fl%ﬁ' I ﬁ -
Choosethe correct answer :-
1. T fgoma wHeR<or &1 = gl 1
(%) 2 (@) 0 (M 1 (%) & @ g T
The degree of a quadratic equation will be
@2 (b) O (01 (d) None of these
2. Ifg sinB=cos® @ O HT A B 1
(%) 30° (@) 45° (1) 60° (=) 90°
If sinB =cosB then thevalue of B will be
(& 30° (b) 45° (c) 60° (d) 90°
3. T =S & TE@ HION hi AN B 1
(%) 360° (@) 180° (1) 90° (=) 0°
The sum of either pair of the opposite angles of acyclic quadrilateral will be
(a8 360° (b) 180° (c) 90° (d) O°
4. fag (-5, —4) g =gufe o feem 2 2 1
(F) g™ (@) fgd () g (%) =gl
In which quadrant does the point (-5, 4) lie ?
(@ 1% (b) 2 (c) 3“ (d) 4"

5. AABC & BC &1 D fa as sern wn € fsed [ACQD =110° @en [BAC=57° I
[ABC %1 M g j Pegesors
(%) 53° (@) 57° () 33° (=) 123°
In AABC, side BC is extended up to D such that [AOD =110° and [BAC=57°
then the value of [ABC will be

(a) 53° (b) 57° (c) 33° (d) 123°
6. Ife 6,8,9, x T 13 T HIL 10 Bl dl X 1 HE BMM 1
() 12 (@) 13 (7)) 14 (") 15

If themean of 6, 8, 9, x, 13 is 10 then the value of x will be
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(@ 12 (b) 13 (©) 14 (d) 15

7. T T IV R TH AT G 3T Hi Weifiehar g 1
&) (@) 2 (m 2 (%) T @ FE
2 3 4
In athrow of dice, the probability of getting a prime number will be
1 1 1
@ 3 (b) 3 (© v (d) None of these
8. A.P. —40,-15,10, 35, .......... FT 10T T e 2l 1
In A.P. —40,-15,10,35,........... 10" termis........
() 184 (@) 186 (71) 182 (®1) 185
9. AABC ¥ AB=AC @1 <BAC=50° @ <ABC &1 91 BT 1
(%) 60° (@) 65° (mn 70° (=) 75°
In AABC, AB = AC and <BAC=50° then the value of < ABC will be
(a) 60° (b) 65° (c) 70° (d) 75°
10. SnSY” - om B 1
cos31°
(%) 0 (@) -1 (M) 1 (%) 3 ¥ i Tl
The value of AnS9, will be
cos31°
@ao0 (b) -1 (o1 (d) None of these

T Tt &t gfd &Y -
Fill in theblanks:-

11, Tgomd 6Ro ax? + bx+c=0 % ol ar&ifosh 3R o@mE € dl foawed 99 9 ..,
Bl 1

If the roots of the quadratic equation ax® +bx+c=0is red and unequal then the

value of discriminant will be.............. than zero.

12 c0sec?0 —1 &1 HM ... g 2 1
Thevalue of cosec?0 —1 iS..............

13. T FH . fFR B 2 1
The number of edgesinacuboidis............

14, x-31e R feord forght fag &1 y - ... g 1
The ordinate of any point situated upon x-axisis.............

15. 9¥9 U9 foog Geaedi &1 1 ... 2| 1

The mean of first five odd numberswill be..............
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16.  Tordl srerggeret a1 ffv=Ed w1 E &1 yfaeshar P(E) =........ 1

The probability P(E) of an sure event or certainly E = .............
17. ot ara fog 9 90 R Afusan i<l SHamel 9 el & & ... Bl 2l

The number of maximum tangents from an external pointisacircleis............

—_—

18. ot TumeR 9ot & < i 9 H e ERE TG 1
In aarithmetic progression .............. between two consecutive terms are equal.

19. = faget (x, yy) 3R (X, yp) & o= HT T &M.....n 1
The distance between two points (X, y;) and (X, y,) will be............

20. URHT W@ H W ..., % TR Fft TE e 2l 1

fa &g ST ue:-
Very Short Questions

21.  fgoma WU X +8x +15% Ik M it 2
Find the zeroes of quadratic polynomial X2 + 8x + 15.
22. ket WM Tl foees fog x=1 fgoma @it x2 + kx+ 3= 0 1 Th g Bl 2

Find the value of k for which x = 1 isaroot of the quadratic equation X2 + kx+3=0.
23.  AABC &' 9T AB 3R AC W D @R E fog %avi: 3@ wR @ f& DE|BC
3 AD=3.6cm, AB=10cm, AE=45cm @ AC = oM fisw| 2
If D and E are the points on the sides AB and AC of AABC such that DE || BC and

AD =3.6cm, AB =10 cm, AE = 4.5 cm then find the value of AC.
24. fag # % 99 #1 TOF SEd &= W THH SO T4 L 2

Prove that equal chords of a circle subtend equal angles at the centre.

25.  fagatl (—4,7) 3R (1, —5) & &= H 0 F@ Hifew 2

Find out the distance between the points (4, 7) and (1, -5).
26. 9% fRE ga & Sfer w1 o 24 Yo ® SR A % w W SEl STell TN o
FT daE 5 Yto B 1 g i e | 2

If the length of the chord of circle is 24 cm and the perpendicular drawn from the
centreis 5 cm then find the radius of the circle.

27. Sl % MG H 1 : 8 T STIUT T A Sh! hRI W FN SFAIC T ? 2
The ratio in volumes between two cubes is 1 : 8 then find the ratio between their
edges.

28. tan® 1 T SnO & ®I H T Hi 2
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Express tan@ intermsof sinB.
cos80°

29. . + 00s59°cosec31°® w1 WM e | 2
sin10°
cos80°
Evaluate — + c0s59°cosec31°.
n10°

30.  fag (=5, 4) 3R (7, —8) ! fHomarwch W@rEe & qe fag o1 fams feed| 2
Find the co-ordinates of the midpoint of the line segment joining (-5, 4) and (7, —8).

31, A A9 6, 9, 12, 15, crreeen. w1 3591 9% el 2
Find out the 35" term of the AP 6, 9, 12, 15, ..........

g AT Y9 -

Short Questions.—

32, (-1 sl (x* + x% +1) F HoHo T 3
Find HCF of (x° —1) and (x* + x% +1).

33, AR T wEHEl & AThd 15 ® 3R S ookl sl AR %%ﬁa‘fﬁu@r@
EIRISEER 3
The sum of two numbers is 15 and the sum of their reciprocals is 1% then find both
the numbers.

34.  AABC® ¥ AL -1) 3R B(51) 2 9k By & o= & Fams (2,1) &
@ fog C & Frames fow 3
Two vertices of AABC are A(1, —1) and B(5,2) . If the co-ordinates of the centroid be
(g ,1) then find the co-ordinates of the vertex C.

35. 100 ¥ 200 & o= @t fawm Gemed w1 IR 9 aw] 3
Find the sum of al odd numbers between 100 and 200.

36.  AfK fowet A & w100 T WG HT U 2:3:4 T Al YD oS HIU hi HY AT R 3
If the ratio of measurements of angles of atriangle are 2:3: 4 then find the measure
of the greatest angle.

37. AABC & 3fidl A(=3,0),B(5,—2) iR C(-8,5) & dl A & Teca=s & fams fag 3
Find the centroid of the triangle whose vertices are A(-3, 0), B(5,—2) and C(-8,5).

38. Wk 9@ § 3 Il AU 2 whiell el ®1 Fgesd Uk Soiell el fehte i Wifdshan

| 3
A bag contains 3 white and 2 black balls. Find the probability of drawing a white ball
at random.
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39. fag = f&® \/1+ cosb \/1_(3036 = 2cosech 3

1-cosb 1+ cosO
Proove that \/1+ cosb \/1—cose = 2c0sech .
1-cos6 1+ cosO
40.  aff m=acosh +bsind 3R n=asind —bcosd @ fag wX fF m2+n?=a%+b° 3
41. = TRt &1 @ e 3

AR | 0-10 10-20 20-30 30-40 40-50

AT 12 16 6 7 9
Find the mean of the following data.
Class 0-10 10-20 20-30 30-40 40-50
Interval
Frequency 12 16 6 7 9
42. =1 9t 1 Sgaw e 3
A aEt B [ 4-6 6—8 8—10 10—12 12—14
seEl @t 3 8 20 12 7
&
Find the mode of the following data.
Age in| 4-6 6-8 8-10 10-12 12-14
Years
Frequency 3 8 20 12 7
< I U -
L ong Question :—
43. TH T w1 AR Tl TG U 3T AFd B W S FTGHT TH e 48
HiX & qo1 SHH! Wik &1 A T 2 5

Find the area of the square whose boundary is equal to the boundary of a rectangle
whose one side is 48 m and three times its breadth.
44.  Tr=fafes Ifieo &1 WF Sie qe1 sHH Uhiess faag a3 5
y=2x—-3 and 3x—-4y=6

Draw agraph for the following equations and find their intersecting point.
y=2x-3 and 3x—4y=6
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45.

46.

47.

TH W F BET H AWE, W H FAR o %Tﬁ%lg&iwmﬁmaﬁ

J3
Ea( 5
The shadow of a vertical pillar is % times of the height of the vertical pillar. Find
the angle of elevation of the sun.
dYger OR

T AT fEed el afds 9 & WY 45° 1 HI0 66 7, 75 "N H SEE W
35 W Bl 9 o | el 7 8 dl zEeh! o i W
A Kite whose thread is inclined at an angle 45° with horizonta layer, is flying at the

height of 75 m. Being considered that the thread is fully straight then find its length.
afs AABC &1 %I0T B =0 & IR AD,BC 319a1 BC & <@IU gU 9N W e

3, @ AC? = AB? + BC? — 2BCIBD 5

If the angles B of a AABC be acute and AD is perpendicular to BC produced then
AC? = AB? + BC? — 2BCIBD.
10 o &a (@MREE Hi 3:2 & U H iq: fawfa +3 5
Divide aline segment of 10 cm intheratio 3: 2 internaly.

Yl OR
g ww T fRd s w A gensti # Tk & oru ¥ fawfem R, @ S Awd
I % AR Bl 81 fag

If aline divides only two sides of atriangle in the same ratio, then the line is parallel
to the third side, proveit.
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(1)
(6)
(11)
(16)
(20)
(21)

or,

(22)

(23)

SOLUTION

() (2) (@) (3)

(M (7) (F) (8)

T2 (12) cot?8 (13)

1 (17) 2 (18) 3@
0

feema agud = x2 +8x+15
=x? + (5+3)x+15
= x? + 5x+ 3x+ 15
= X(x+5)+3(x+5)
=(x+3)(x+5)

X2 +8x+5=0

(x+3)(x+5=0

either x+3=0 or, Xx+5=0

= X=-3 = X=-5
A =w =-3,-5
feema wefteRtor X% + kx+3=0
ST THEW H X =1 WH |
D)2 +k1+3=0
or, 1+k+3=0
or, k=-4 Ans.

(4) (M (5) (=)
9) @ (10) (M)

(14) 0 () (15) 5

(19) 0o —x)2 + (y2 — y1)2

YeAER, DE || BC 31k
AD =3.6cm, AB=10cm, AE=4.5cm, AC="?

DB=AB-AD

=10-3.6=6.4cm
fF w0 o F fF Ak feed fa @

ot TF g % TR HIE Y@ Wi S Al o & e T @ eua | farefe

Bt 2
D_AE
DB EC
36 45
or, —=——
6.4 EC
45x64

or, EC= =
3.6x10

8cm
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AC=AE+EC
=45+8=125cm Ans.

(24) ; 5 M foan ff @R ga ) 9 gaE Sshed #5961 = 0
Bl fog e € foo-
[AOB = [COD
- p Y- AAOB &R ACOD ¥,
OA =OC,OB=0D a #! st eard wam gl 2
AB=CD Y8R

[NAOB [ZACOD (SSS)

[ IAQB = [TOD (CPCT)

Id: I H THH SHETT 5 T GHME 07 4 B

(25) fasati (—4, 7) &R (1, —5) & == = g

=@+ 42 + (-5-7)

= /25 +144 = /169 =13 %1

(26) T faen 6 O %5 aen g i Siar AB &t
A 24 Wflo ¥ X 94 ®= O ¥ Sl AB W
eTell T s OP 1 arg 5 Wi 2

" i.e, AB=24cm, OP=5cm
P AOAP 3R AOBP ¥,
[ORA = [OBB =90° (W¥{ER)
OA=OB  (ga & =t auer Bt ©)
OP=0P (Common)
[ ZADAP [NOBP (RHS)
[ AP [BP= % =12cm
AOPB H,
[ORB = 90°
[{DB)? = (OP)? + (PB)?
=52 +122
=25+144=169
[ ®B =169 =13cm Ans.
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(27) M foan fF vget IR g S % SR R A HEI: x ARy THE 2

YR,
Y ¥ T TG

1
TE AT AT AFA 8

1/3
NI S B SN EACC N TS N
Vel ly Te" Yyl W2 T2
y> 8 y y

HR 1 A I = x:y=1:2 Ans.
sin@ _  sinb
cos6 \/1—sin29

cos80°

~+ c0s59°cosec

(28) tanb= Ans.

(29)

sin10
_ cos(90° —10°)
ETIGR
_sin10°
~ sinl0°
=1+1=2 Ans.

(30) fag (=5, 4) &R (7, —8) = foearh Y@Ee & 7w fag & fems

_|-B5+7 4+ (-8)

'{ 2 ' 2 }

342
= (L _—24j =@ -2 Ans

(31) HHRR 991 6, 9, 12, 15, ......

+ cos(90° — 31°) [¢osec31°

+ sin31° [¢osec31°

Ief a=6, d=t, -, =9-6=3
ty=a+(n-1)xd
tas =6+ (35-1) x3
=6+ (34x3)
=6+102=108 Ans.

(32) x®*-1=(93-(@?
= (X=1)(x2 + x +1)

x*+x%+1= (x2)2 + 20X+ (1)2 —x?
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= (x2 +1)2 —x?
= (x2 +1—x)(x2 +1+ X)

= (X2 = x+ (X% + x+1)

2

I HoTo = x°+ x+1 Ans.

(33) #F fa=n & 998 9= = X

TRATER,
fgda W= =15—x
YA,
1 1 3
— 4+ =
Xx 15—x 10
15-x+x 3
or, =—
x(15-x) 10
or, 45X — 3x2 =150
o, 3x2 —45x +150=0
or, 3(x2 —-15x+50)=0
o, x% —15x +50=0 (--3%0)
or, x° —(10+5)x+50=0
or, x2—10x—5x+ 50=0
or, X(x—10) —5(x—-10) =0
or, (x=5(x-10)=0
[ k-5=0 or, x-10=0
= Xx=5 = x=10

A 9@ x=510 Ans.

(34) am femn fe fog C & fams (xy) 1 @

& oY
\ BYs & TEA %5 & S
v \Z :(1+5+x —1+1+ y)
2 3 ' 3
) _(6+x Xj
bev A & 3 '3
YEAER,
&R Hl xﬁmmmz%
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(35)

(36)

6+ X
3
or, 6+x=5

or, Xx=5—-6=-1

)
3

g1,
& s 1 y Fams =1
or, %=1
o, y=3
ofd: o Cop1 fames = (-1,3) Ans.
100+101+102+103+104 +105+ .............. +199 + 200
3@: 100 ¥ 200 & = |+t foom demst &1 Arwd
101+103+105+ .............. +199
7=, a=101
d=t, —-t; =103-101=2
t, =199

a+(n-1)d =199
or, 101+ (n-1)2=199
or, (n—-1)2=199-101=98

or, n—1:%:49
2

[ n=49+1=50
Sh=5{2a+ (1-1)a}
:5—20{2><1o1+(50—1)2}

= D5{202 + 98}
=25x300=7500 Ans.
oM forn for o ®1 uin x 2
@, A H YW BT = 2X
fgdra o = 3x
AT BT = 4x
<feh A % < RO w1 ATRS 180° B B
24+ 3x+ 4x=180°
or, 9x=180°
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_180°

or, X

qad 981 &I = 4x=4x20=80° Ans.
T{W%ﬂﬁﬂﬁ%ﬁﬁ, (Xl7y1)’(X2’y2) e;ﬁ—{ (X3,y3)15|6ﬁ3ﬂ'5|:f‘0ﬂﬁ A@{Rﬁaﬁa

(37)
% framms
:(X1+X2+X3 y1+Y2+Y3j
3 ' 3
:[—3+5—8 0—2+5j
3 ’ 3
=[ﬁ,§]=(—2,1) Ans.
3 3

(38) ¥ foh S=ga Rom &1 995 ={W, W, W, B, B}
8T W = S7elt Tiiedl 3R B = =hieft Tieft
n(s) =5
o e E Sl el Feptem @t S bl yeidia s @
ie, E={W,W,W}

FUq n(E)=3
n(gE) 3

[ P(E)=——=— Ans
nsS) 5

(39) LHS = |[Lro0s9  J1-cosY
1-cosB \1+ cos6

\/1+ cos® 1+ cos® \/1—0056 1—cosb
= X + X

1-cos6 1+ cosO 1+cos6 1-—cos6

=\/(1+ cose)2 +\/(1—cose)2

1—00s20 1+ cos20

_\/[1+ COSG]2+\/(1—C089]2
sin9 sine

. 1+ cosbO N 1-cosB

sin@ sinB
_ 1+ cosb +1-cosb
- sin®

__2
sind
= 2cosecO = R.H.S. Proved

(40) YR,

m=acosb + bsin®
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R n=asin® —bcosh
L.H.S. =m? +n?
= (acosf + bsin0)? + (asin® —bcos)?
= a® cos® 0 + b?sin? 6 + 2absin @ coso
+a°sin?0 + b2 cos? O — 2absinB cosd

= a(cos? 0 + sin®8) + b2(sin? 0 + cos® 0)

=a’l+b’0

= a’+b?

= R.H.S. Proved

(41)
T A | IRERG | 7 6 f x x
(f) (x)

0 — 10 12 5 60
10 — 20 16 15 240
20 — 30 6 25 150
30 — 40 7 35 245
40 — 50 9 45 405

>f =50 >fx=1100
e :ZZ—I;X:%:ZZ Ans.
(42)

3 a9 | Sedl hi Ge

4 — 6 3

6 — 8 8

8 — 10 20

10 — 12 12

12 — 14 7

fo— f—l
2fo— f—l - fl

X

dgeh (Mode) Mg =1 +
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| = Modal class 311fq sIfuehas IR aten af @t =1 &
fo = Modal class &1 sRwIRal
f_4 = Modal class & St Ugel el o i SR
f, = Modal class % e 1% aTell a7 sl SRRl
| = o ST I AaTg
YR, fUshdd IRl ol o = (8 — 10) et s 20 21

ateriq | =8, fo=20,f =8 f;=12,i=6-4=2
20-8
A SgaR =8+ x
(2% 20)-8-12
=8+ 12 x2:8+£x2
40 - 20 20
12

=8+-—-=8+12=92499 Ans.
10

(43) A fern for omaa Y =gl = xito
TEER,
3x=48

or, x:%8:161=|°ro

I T U Tl uRfafd = (S + deE)
= 2(48 + 16)
=2%x064
=128 Tto
YIER,
[ T A AU IRMAM = a1 =0 A IRAf
Ax e =128

or, ST =%8=321ﬁo

L off &l &o%wd = ()’
= (32)°
=1024 & "X Ans.

y=2x-3 ..(1

" 4 and 3x—4y=6 ..(2)
gHto (1) y=2x-3
X 1 3 -1
y -1 3 -5
(X, ) (1,-1) 3,3 | (-1,-H)
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THo (2) 3x—4y=6

(2.0

(6,3)

i

2 :

T
42

HHEEL

i

B e o e

i
B
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(45) o fen 76 AB T h Tt s w2
T % e § W & @Al BC © e
T & IFF RO AA k& C fag W 6
U] ST B
W BRI BC &1 o :hxi
V3
_h
3
AABC #
[ABC=90° 3R [AGB=9
I:EIHICIB:ﬁ
BC
or tanezL
h/+/3
:hx%:@
= tan60°
[C8=60° Ans
‘sreren’ ‘or’
A M fa@n o TF 90 el & eRad B
t ¥ 75 Hex F FAE W A fag W I @ R
oot et AC ®1 o 9 et @, dfaw
ety a0 Cfag W 45° &1 o1 o= 21
Ul [AQB = 45°
bﬁ ' éS‘\L AABC
[ABC = 90°

[sh [AGB = sinds° = -0
AC
1 _ 75

J2 AC
or, AC=75/2 Het Ans.
= 75%1.414=106.05 HeX Ans.
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(46) ww&m s ADB
[D3FT& GUhIv A
L TariE 999 9
AB? = AD? + BD? o (1)
iRt W fgst ADC ®
[D3F T GHH
L TarE 999 9
AC? = AD? + DC? o (2)
fe (1) @ DC=BC-BD
[DC? = (BC-BD)? = BC? - 2BCBD -BD?
fe= (1) ¥ DC=DB-CB
[DC? = (DB - CB)? = DB? — 2DB[CTB + CB?
= BD? - 2BCBD + BC? 2
= BC? - 2BC[BD + BD? o= (11)

L 3+ fo= 4,
DC? = BC? - 2BCBD + BD?
2l ik AD? sired W AD? + DC? = BC? — 2BCIBD + AD? + BD?
(1) 3R (2) = ¥ H o ®
AC? = BC? — 2BCIBD + AB?

CAC2=AB2+BC?2—-2BCIBD Proved.
(47) T&1 & =[O ;-

(i) AB=10cm T& (@@s @il

(ii) AB & @ fag A W &g AR dANT g8 W@ AD &=l

(iii )AD ® 5 (3+2) SRR =19 AL,LM, MN, NQ, QC
weHL, M, N, Q, C sifera &i|

(iv)C 3R B =i foem 2

(v) TR fag (st =3)
N @ NP| BC @i=1 st AB &l P W el 2|
39 YRR P fag AB®I 3:2 % 31UM H 3fa:
oo shear 21
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(48) = fon fv ABC wh st 21
T4 U Wl DE st %W AB, AC
T feod 81 39 YR

AD_AE E
DB EC
@ fag % ® T DE||BC
TEe — uH foren 7% DE, BC & GHR &l o zil
d BC & WH=R U& 31 W@ DE’ @il
AT — @S % 3TgER DE’||BC
L Sod w0 9,
AD _ AE’
DB EC
o o gam ©
AD _AE
DB EC
E_AE
EC ETC
TH WE 1 et R

~

= —+1= +1

AE+EC AE'+E'C

EC  EC
_, AC_AC

EC E'C

= EC=E'C
7 qfi 9e € W& E Wd E' Th & fag W ¥ e: BC % wWWR @l DE & g,
DE’ =& #I
[ DE||BC Proved.
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MATHEMATICS - ( 7Tforq )

THY : 3 HeT 15 fiee Ui : 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

Ul B el =T : 47

Total No. of Questions : 47

e & ford A -

Instructions to the Candidete :

1. Tl I U Iesl § & ST <

Candidates are required to give their answers in their own words as far Practicable.

2. Sl AR BIRA W Y gV o pfe fafde axd €|

Figures in the right hand margin indicate full marks.

3. ol g aifvaty €

All Questions are Compulsory.

4. 39 UUS B UGH @ fov 15 e @1 afaRed a9y foar mar 2|

15 Minutes of extra time have been allotted for Candidates to read the Questions.
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T (HeS-5)
MATH (SET-5)

qug ; 3 ger 15 fa=e

Time: 3Hrs15Min.

‘Hﬁ'?ﬁﬂ'@:—

Choose the correct answer :-

Full Marks: 100

TR FgYS o 9 0T ! AN BT 1
(%) 180° (@) 540° (1) 360° (&) gt
Sum of four angles of quadrilateral will be ?
(a) 180° (b) 540° (c) 360° (d) All
cot60° T TH A 1
) 3 (@) = (M 1 () 0
J3
Value of cot60° will be
CRE o) ©1 (@0
ffy=ra Sie 1 ifdehar Bt 2 1
1 1
%) — 9g) 0 m 1 ) —
() NE (@) (n) )] >
Probability of sure event is?
1 1
(€Y & (b) O (01 (d) >
sin(90° —A) f= # forae forde s @ 2 1
(%) cosA (@) tanA (7T) secA (*) cosecA
sin(90° — A) isequa to which of the following ?
() cosA (b) tanA (c) secA (d) cosecA
Yom Uie 99 Uiehd S T WA ghm— 1
(%) 8 (@) 10 () 4 (%) 6
Mean of thefirst five even natural number will be
(@) 8 (b) 10 ()4 (d) 6
< gal i Beeti w1 o 1 : 3 € o &l 1 ST F e ? 1
() 1:9 (@) 2:9 () 3 :2 (1) 2:3

https://www.evidyarthi.in/



If the ratio of radius of two circlesis 2 : 3 then theratio of their areawill be

@1:9 (b)2:9 ©3:2 d2:3
7. AR g wl I B0 60° 7, A9 30 o sl BEN SHM Sl K WAR A S8 T 2 1
@) 33m (@) %m (M 5m (=) 3043 m

If the altitude of the sun is 60° then what is the height of the vertical tower making the
30 metre long shadow

(@ 3J/3m (b) % m (©) 5m (d) 303 m

8. e T T SAEGH 19404 efto’ ¥, W TGS HT Uh TS &F%heA A1 BOM? |
(F) 2772 GH0® (W) 3696 HHo (1) 3632 Hlo"  (¥) 2316 HHio’

What will curved surface area of Hemisphere whose volume is 19404 cm®

(F) 2772cm? (@) 3696 cm? () 3632cm®  (®) 2316cm?

9. fag P9 frelt ga i w9l T &1 @ 24 ¥effo © SR ®w @ P& g 25 efto
2, @ gad =t B B— 1
(F) 21 GHto (@) 28 THto () 12.5 WHlo  (¥) 7 WHlo

If length of the tangent of a circle from point P is 24 cm and distance from centre of P
is 25 cm then the radius of thecircleis

(@ 21cm (b) 28cm () 125cm (d) 7cm
10. (=3, -3) fFm U d &m ? 1
(F) @ IR (") =gd I’ (1) JUH U (%) fedfta o=

Which quadrant will the point (-3, -3) lie ?
(a) Third quadrant (b) Fourth quadrant  (c) First quadrant (d) Second quadrant

fro T A gRE W o

Fill in the blanks :-

1. ax?+bx+c=0%% 7ol oo 3R FHAT € A .oovees Rl 1
Therootsof ax® + bx+c=0 isred and unequd if .............

12. cosec(90° — A) = 1

13. 7,8,9,7,8,9,9,3,5,4WW%I ................... 1
What'smodeof 7,8,9,7,8,9,9,3,5,4 ..........

14, ;—;WWW ........... g 2 1
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15 TR d x & 94 ..., Kl 1

What will be the value of x in the given figure (triangle) ?
X

éb o ir e
16. T WEYS THEY B B A% Sh T 10 G B 9 WA GO ..., & 1

Two regular polygon will be similar if their corresonding angle are equal and
corresponding sidesbe................

17. @E qa | e fee fag (—4, 5) # Fifc & A9 B oo 1
The value of ordinate of point (—4, 5) in cartesian plan ...............

18. AP 591317,.... H GETR oo, B 1
The common difference of A.P. 5,9, 13, 17iS ..ccouve.......

19.  s§in60°cos30° —sin30°cos60° 1 | .......... B B 1
The value of SiN60° cos30° —sin30°cos60° is...............

20  FMN X2 —3X+2=0H ThH A2 § ? coov 1

1IS2arootin X2 —3X+2=0 wvvonnn.

31t g ST U9:-

Very Short Questions :—

21, &3 0 AP 16,22,28,34, ... HT TEcl U5 3 G FR A B 2
Find the first term and common difference in the given A.P 16, 22, 28, 34, ...... :

22. fag ®¥ f& cot48°cot33°cot42°cot57° =1 2
Prove that cot 48° cot 33° cot 42°cot57° =1

23, AR cosAngﬁ SiNA 3R tanA 1 A fehred| 2

If cosAzég1 then find the value of sin A and tan A .

24.  oTsRfa W DE||BC € @ EC ¥ sifeg) 2
In the figure DE|| BC then find EC ?

rt;f"" .LACV'I"\
F1z
7 e
8 c
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25.

26.

27.

28.

29.

30.

31.

aTel & fo § PASIR PB 9d &t wugl Y@ € qen [ABO=30° a1 [ADB 1 822
In the figure PA and PB is tangent line of circle and [LABO = 30° then what is the

valueof CADB.
‘_
b/
faomd Tl 6x° —x—2=0 & YK A€ H 2

Find the nature of the quadratic equation 6x%> —x—2=0.

SRR Zl Elz ?aﬁmmmﬁﬁnﬁﬁﬁﬁ%@mﬁwwww
> 2

2 I STE| 2

2X—-3y=87a 4x—-6y=9
On comparing the ratios 21 b (fl of the given linear equations 2x —3y =8 and
2 2
4x -6y =9 , find out whether the given pair of linear equations consistent or in

consistent.

OR _0OS
ﬁqmﬁﬁaﬁaﬁmncsaﬁxpsnwaa’rmﬁﬁsOB ey 2
In the given figureif PR||CB and PS|| CD then prove that OR_ %

OB OD
£
P
D
% g AABCH <C=90° df fag ¥ 5 AB2 = 2AC? 2
Angle (<C) = 90° in aisosceles triangle then prove that AB? = 2AC?.
39 T 1 Y53 &kl TehTel TSeeht =@ 14 9o B 2

Find the surface area of sphere where diameter is 14 cm.

It fog P(2,-3) &1 & Q(10,y) ¥ 10 $HE & @ y 1 AF A@ i 2
If the distance from Q(10, y) to point P(2, =3) is 10 unit then find the value of y.
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Short Questions.—

32.  fag & 5-/3 T ufE ge 2 3
Provethat 5—+/3 isirrational.

33. 1 Wt =A@, delt 8 Wiio el Wi wI Th ©E HI TH TAM WISE ad 18 Ho o
TH dX % ®9 H @i S 21 dR H W 9| A 3
A copper rod of diameter 1 cm and lenth 8 cm is drawn into a wire of length 18 m of
uniform thickness. Find the thickness of the wire ?

34, fag =T f& (1—sinA)(SecA +tanA) =1 3
Provethat (1—sinA)(secA +tanA) =1
35.  STqUEl COSA, tanA 3R secA ! SinA & Tl H oFad SHife) 3

Expresstheratios cosA, tanA and secA in termsof sinA.
36. TRt fore & a9 @R & A 10%lqﬁaﬁ2aﬁgﬁmmaﬁﬁqr——r% S
21 fo=1 3 w1 3

The sum of numerator and denominator of any fraction is 10. If 2 is added to

denominator the fraction becomes % Find the fraction.

37. R 3 dwed fhad gemd 3§ fausg € 2 3
How many number of two digit isdivisible by 3 ?

38. TH IA H 3 o 3R 5 el 1S B 39 Od ¥ Tk % Agesd (Fhred St Bl gHen!
Wifeha @ B TR T () W@ €, (@) o Tl g 3

In abag thereis 3 red and 5 black balls. One ball istaking out atrandom. What will be
probability of bal in (a) isit red ? (b) isit not red ?

tA — A A -1
10, 5 stqw fir col COSA _ COSEC 3
CotA + co0SA cosecA +1

cotA —cosA _ cosecA -1
COtA + COSA  COSecA +1

40.  Trfafed IRaRa faaor &1 agas T S 3

Find the Mode of following frequency distribution.
AT | 6-10 11-15 16—20 21-25 26—30

Prove that

AR ST 20 30 50 40 10

41, fooma wefiewor 3x2 —26x+2=0 % g1 @ i) 3

Find the roots of the quadratic equation 3x? —2/6x+2=0.
42. Rk sin3A = cos(A —26°) & S, 3ATH AHU € @ A H HH T i) 3
If SN3A =cos(A —26°) where 3A isan acute angle. Find the value of A.
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Long Question :—
43. e fafy 9 e s a1 5
Solve the equation by graphically.
X—4y+14=0
3x+2y-14=0
44.  UH FHAA SHM W @ HAR w1 o 59 fem o 30 Ho ifie et @ Wt € 5
% gd &1 S 60° ¥ W 30° B WM T WHAR H1 H9E T HiTaQ 5

The shadow of atowar standing on alevel ground is found to be 30m longer when the
sun’s atitude is 30° then what it is 60°. Find the height of the towar.

45. UM ¥ g W §E TF ASTAHR <l H TH UEI 5N 3;Fﬂauﬁr@3€tc:ﬁm@
@t feren ST 81 A <Rl w1 oA 3 o © Al a9 fhad wHE W o @reft =
W?(HZ%) 5

A hemispherical tank full of water is emptied by a pipe at the rate of 3; Itr/sec. How

much time will it take to empty half of the tank, if itis3 m in diameter?(take 1 = %)

46. AABC ® [C 9wl 81 af C ¥ AB W @Y T @d &1 @ag Pel 3k AB=c,

BC=a, CA=b 3k CD=p i fg 7 fF — ==+ 5
P a b
ABC is aright triangle in which [C=90°, CD [CAB. If AB=c, BC=a CA =D
and CD = p then prove that i2:i2+b_12'
P~ a
e ‘OR’

46. wa & fad § APDC ~ APBA, [BAC=125° , [COP=70° & [DAC, [DJP
T [PAB ¥@ &Il
In side by figure APDC ~ APBA, [BHC=125° <BPC=125° and [CDP=70°
then find [DRC, [DAFand [PAB ?

47. 3 GHto o a9l g & I o T fog § 39 W wEl @e & @A w5

To construct the tangents to a circle of radius 3 cm from a point outside it ?
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SOLUTION
() @m (2) (@) 3) @@ (4 (=) (5) (=)
(6) (=) (7) (®) @) = ) =) (10) (=)

(11) b%—4ac>0 (12) secA (13) 9 (14) 0.68
(15) 130° (16) §arudt  (17) —4 (18) % (19) %
(20) =

(21) W 9% (a) =16
e R (d )= gET Ug — UEell U
=22-16=6 Ans.
(22) L.H.S = cot48°cot33°cot42°cot57°
= cot(90° — 42) cot(90° —57°) cot 42° cot 57°
= tan42° tan 57° cot 42° cot 57°

=tan42°tan 57° 1 P =1 R.H.S Proved
tan42° tan57°

(23) Given cosA = §

snA_m-FP(f

7 =
tanA=SmA=i:—7><il=—7 Ans
cosA 3 4 3 3
4
(24) Te@ 7= © AABC ¥ DE||BC
D_AE
BD EC
E:i EC:i
3 EC 15
BC:3I510:2 BT = 2cm Ans.
(25) -+ [ARO=30°
OA AP W
-+ [OAP=90°

[ TAOP=180° — (90° + 30°) = 180° —120° = 60° Ans.
(26) feam gam - 6x2—x—2=0
T’ a=6b=-1c=-2
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D=b? - 4ac
=(-)2-4x6x-2

=1+48=49>0
D>0
[ 4o arsfash iR S9aM 2
(27) 2x-3y=8
4x -6y =9

&=2 b=-3 ¢=8
a2:4, b2:—6, 02:9

31q: Was qHiHon &1 0 T 2
(28) fe=mgER
AOBC #, PR||CB
Jeg YT 9
OR _OP
OB OC
T: AOCD H, PS||CD
Jeq T |
OP _0S
oc~ oD
aa: (1) 3R (2) 9

. (1)

. (2)

(29) T TN ® ¥ ¥ AABC T& THgeTg s ¥ @k ®or cuwahi 2
fag # 8- ABZ=2AC?
AACB ¥,
[C=90°, AC=BC (fz )
AB? = AC? + BC? (vreiming v @)
= AC? + AC? [BC=AC]
A AB2 =2AC? fag gan
(30) &9 d & fop 9o @

d =14cm,

III:Q:E:km
2 2
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Tl 1 IS &k = 3nr 2

:3x§x(7)2:3x§x7x7
7 7

= 462cm?®  Ans.
(31)  PQ=4(2-10) + (-3-y)?
PQ? =82+ (3+y)? 7 & PQ=10
10° =64+ 9+ 6y + y°
or, y2+6y—27:0
or, y2+9y—3y—27=0

or, y(y+9) -3(y+9)=0
or, (y+9)(y-3=0

[ yl--9,3 Ans
(32) @ T 5-+/3 T uiEg wen 2
E5]—\/§:%, sl a3k b (b#0) Feswg ged B
Ad: 5—%:\/5%I
T iR § qHeddityd i R ed Wiw B @l
_c_@
J3=5 :
IfF a ik b qUie wem ¥, wEkm 5_%@mq@1%mﬁﬁ,w&ﬁa
e Bl

W TEY 3E ded 1 R Wiw gl @ TR /3 T g "en 2
B IE foiena ™ oot Teld Heul % SR Wi gl ® & 5_3 Tk uia gen
31; g9 Frhd fiehie & fF 5—+/3 T& s1aiea §@n B

2
(33) B8 @l AFAA :nxgj x 8cmS = 21w em®

T AAE o dR &t @ere = 18m =1800cm
Ifg a1 & e &1 Be or ®

AN T SEET =1 x r2 x 1800 cm®

afd: mr? x1800= 2n

(2= 2 1
mx1800 900
2 1
900

https://www.evidyarthi.in/



1

r= ‘/i =—cm
900 30

m:aﬂaﬁwaﬂaﬂm,aﬂﬁ%ﬁaﬁémwﬁommm (TTT)

(34) L.H.S. =secA(1-sinA)(secA +tanA)
[i) (1—sinA)( 1, S‘“A)
COsA COSA  CosA
_ (1I-sinA)(1+sinA)

B cos?A
_ 1-sin®A _ cos?A

COSZA COSZA

(35) &9 94 ¢ &

cos? A +sin?A =1

=1 =R.H.S Proved

So, cosZA = 1—sin2A

19, coSA =x41-sin?A

T U8 U B € COSA =4/1-sin?A

SinA SinA
3d: tanA = =
cosA J1_sn?A
3R secA= 1 !
CosA  [1_gn2A
(36) @ fd fa= ==
AR, X+ y=10 (1)
x _1
y+2 2
TqP, 2Xx=y+2 [Zk-y=2 (ii)
o (i) @@ (i) = Sed W
X+ y=10
LZX y= 2 Cxx =40
3x =12 3
Xx=4FHo (i) W W
[ 14+y=10
L1 y =6
q; e fa= _Xx_4
y 6
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(37) 10,11,12,13........, 99 # 3fei =Tt SU fawma wead 12,15,18, 21, 24, ........, 99
Tel | Hotlo & foiw a=12,d =15-12=31=99
l=a+(n-1xd
9=12+(n-1)x3

= 99_12:n—l :g:n—l
3 3

T n-1=29, [nF30 Ans.
(38) 9« ® et Mg =3+5=8 L ot Geifea ool =) gen =8

(%) P(d@ TR) ==

(@) P(ama 7] &) = 1—§—§ Ans.

COosA
COtA —cosA _ gpA

COtA + cosA  COSA COSA | osA
SinA

1 1
_ COSA(nA_lj _ [sinA_lj _ cosecA -1
0o g 1) (guat) =
(40) Il wgas® =it 16-20 ©I
iR SHeR! SRSRAl Feieeh gl
16—20 H 3T9ardt M W I8 af =155-20.5

59 YR, | =155, fp =50, f_; =30, f; =40,i =5

—CosA
(39) L.HS=

=RH.S

I:Mbdezl+£><i@|
2fg—fq— fi

My =155+ 030,52 155+%x5

2x50-30-40
=155+3.33=18.83
(41)  3x% —26x+2=3x% —/6x—/6X + 2
= Vax(v/3x =/2) = \2(\/3x - /2)
= (V3x—2)(3x=/2)
3Td: gHH & g x & o °AH ¢, fe fo
L (3x—V2)3x-+2)=0
J3x-42=0

o
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: Jéxfom\f

a:  3x2 —2/6x+2= oa%%\f\f%l

(42) =l fem gem @ 6 sn3A =cos(A—26°) .. (1)
sn3A_mqgo°—3A)wmm<1)aﬁsamﬁmm%|
c0s(90° —3A) = cos(A — 26°)

HifR 90° —3A 3R A —26° <l =il € @l
90°—3A=A—-26° = 3A—-A=-26—-90 W< Bl I

= —4A=-116 IE:]'T]‘;G A=29°

Xx—4y+14=0 ..(D

(43) and 3x+2y-14=0 ...(2
THlo (1) Xx—4y+14=0 THlo (2) 3x+2y—-14=0
Xx—4y=-14 3x+2y=14
X+14 =4y 3x=14-2y
X+14 14 -2y
s 7 =73
X -2 2 0 X 4 0
y 3 4 35 y 1 7 4

T amerEl w1 wer fag (2, 4) B
3d: 81 - X =2

y =4

NS —t— —————t—P+> X
w ! e H'sz‘f o"’lj 2 3 4 5\'\‘
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(44) wF fafse f& AB 9K 1 @ag h e 2
3R BC, x HeX 2l
DC =30 Hi=X
DB=DC+CB
= (30 + x) o
3d: DB =(30+x) Hio
e 78l & gHhIv B1gs ABC 3R ABD R

TS AABC o
tan60° = 2B
BC
J§:D (1)
X
AABD H, tan30°:E
BD
1 _ h
or, E_X+3O (2)
(1) 9 &4 9 8 7l
h=x/3 ..(3)

T OE H (2) H giaenfyd e W ed g8 Ww el € (x4/3)4/3 = x+ 30 = fm
3X=x+30
3x—x=30
2x=30 @3—20:15

feT (3) ¥ x=15V3

31d: HHER # =i 1503 B

. - - 3
(45) SAGMATRR Taht i 52 :Em

2 22 3x3x3 g3
Zx—x m
377 2x2x2
9
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=2 1000= 0 i
28 28

m%’&ﬂatﬁr@&ﬁ%ﬁ%lmm

W%Fﬁatﬁr@?ﬁm

99000 7 _ 99000 7
28 25 28x25
99000 x 7
~ 28x25

=990 second

C%ZB.SW Ans.
(46) AABCH AB & 3THR od gU 1 &A%

:EXABxCD
2
1
=—xCx
> Y
A: BC @l STUR AMd §U

AABC &1 &% :%XBCXAC:%ab

EQQNZXp:%Bm [Ckp=axb

C c?
e
1 _b*+a?
p2 a2b2
TEUMIRE 999§, AABC § c? = a? +b?

b2 a®
a2b?

-+
a2b?

[DRC + [BRC=180° (ifa® Im ifyE)
[ TIDRC +125° =180°

[ TIDRC =180° —125° = 55°

ACPD ¥,

[COP+ [DAC+ [DQP=180° (fayst & < = =1 =i 180°&H &)
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(47)

[ 70° +55° + [DOP =180°

a1 [DAP=180° —(70° +55°) =180° —125°
[ TIDQP =55°

9q4: APDC ~ APBA
[ 1IPAB = [PAD
[ 1IPAB =55° (-
Tt R [DRC =55°
[DAP =55°, [PAB =55°
TOAT & TRUT—

(1) #E fog 0 w1 H=AFEE 3
gdto o &1 T I9 @l
g9 & w5 fag fag P
Sl

PO = foomd sk =@
gafgefsa & o= fF PO &1
e fag M |

(e 2)

[PAD =55°)

(2)

(3)

(4) M & &% 79 & a1 MO 5= oo w99 @il 97 ke 1w g9 & Q

AR R yfd=se ¥l 2l
(5)

M &l Qden R¥ fiemid q8 PQ 3R PR arsfie wugi Y@ fiyerdt 21
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MATHEMATICS - ( 7Tforq )

THY : 3 HeT 15 fiee Ui : 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

Ul B el =T : 47

Total No. of Questions : 47

e & ford A -

Instructions to the Candidete :

1. Tl I U Iesl § & ST <

Candidates are required to give their answers in their own words as far Practicable.

2. Sl AR BIRA W Y gV o pfe fafde axd €|

Figures in the right hand margin indicate full marks.

3. ol g aifvaty €

All Questions are Compulsory.

4. 39 UUS B UGH @ fov 15 e @1 afaRed a9y foar mar 2|

15 Minutes of extra time have been allotted for Candidates to read the Questions.
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Tfura (V-6 )

MATH (SET-6)
|quYg : 3 "7 15 faAe

Time: 3Hrs15Min. Full Marks: 100

'Hﬁ'?ﬁl'{'@:—

Choose the correct answer :-

1. e o @ 3 g g 2x2 + x—6=0 &1 TH A € ? 1
(F) Xx=2 (@) ng (M x=-3 (&) x=3

Which of the following is a solution of the quadratic equation 2x%2 + x—6=0 ?
@ x=2 (b)x::—; (c) x=-3 (d) x=3

2. < GEwst w1 WA 25 9 A 50 §1 Al TR OGRS T § W S B 2 1
() 1050 (@) 1150 (M) 1250 (*I) 1350

H.C.F. and L.C.M. of two numbers are 25 and 50 respectively. Which of the
following is the product of the numbers ?
(a 1050 (b) 1150 (c) 1250 (d) 1350

3. = § 9 %A ufdg gen @ 2 1

3 16 81 49
() \/% (@) o (M) \/% (=1) ~

Which of the following is arational number.

3 16 81 49
@ \/% ®) 3, (©) \/9:1 @ s

4, fedt AABC § [AF90°,BC=13cm AB=12cmd e d d s oM s ¢ ? 1

(%) 3 efto (@) 4 Gio (M) 5 Tto (%) 6 Hito
In AABC, [A*90°, BC=13cm, AB =12cm, which of the following is the value of
AC?
(@ 3cm (b) 4 cm (c5cm (d)6cm

5. HHI@ goft —11,-8, 5, ....... T YUH ¥AIHG UE T A @ A @ ? 1
(+) 1 (@) —2 () 2 (1) 3
Which of the following is the first positive term of the given A.P. 11, -8, -5, ....... ?
@ 1 (b) -2 ()2 (d)3
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6.  fodh fag P(x, y) =1 gt fog @ 0 f79 & o o6 =i 2 1

(h) X2 + y2 (@) X2 — y2 (M \/xz + y2 &) \/xz - y2

Which of the following is the distance of apoint P(x, y) fromtheorigin ?

(&) X2+ y? (b) X* —y? © V¥ +y*  (d) X -y
7. S 1 T ws STH! et &l e A 9 g o o fawfsa wwn ® 21
() 1 :2 (@) 2 :1 (M 1:3 (&) 3 :1

Centroid of atriangle dividesits median in which of the following ratio ?

@1:2 (b)2:1 (©1:3 (d3:1
8. C0Sec60° &1 A = | & € ? 1
3 2
(F) 2 (@) 3 (m 3 (M) =
2 N
Which of the following is the value of cosec60° ?
V3 2
a) 2 b) — c) \/3 d) —
(@ (b) > (© (d) 75
9. cosec?0 —cot?0 &1 7 A § #H © ? 1
1
) 1 (@) 2 (m 2 = 3
Which of the following is the value of cosec?0 — cot? 6
1
(8 1 (b) 2 (© V2 (@ 3
10.  gd T Skl 1 g F=1 o A © 2 1
() Tr (@) 2mr () mr? (=) 2mr?
Which of the following isthe formulafor area of acircle ?
(@ r (b) 2nmr (©) mr? (d) 2mr?
T Tt &t gfd e -
Fill in theblanks:-
=2 51 e T BT 1
23 x 52
Decimal expansion of =3 3 [T
2°%x5
12.  fgom wefeo ax? +bx+c=0 & el 1 OAE ......... BT 2 1

Product of the roots of a quadratic equation ax% +bX+C=0 S,
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13.  AABCu& qushiv fryye © fomgert [BF90°, [CF30° @ [AF ... 1
AABC isaright angletriangleinwhich [B390°, [CF30° then [A¥F ...

14, 9 W W@ fmd e ot < qeneil w1 GHE U | wiedt € df 9% Y@ ded
S L gt 1
If aline divides any two sides of atriangle in the same ratio, the line must be ............

to the third side.
15. A GHMGR 9O 1 Y9 98 a O $9Rl @i d @ @ nal @8 =a+ (.....)xd 1

=a+(....)xd
16.  gd * o9l W@ ga *i 99 fag W el wa ® 39 o %8l Sl 2 1
The tangent line touches the circleon apointiscaled ..............
17. A iR Soft @ ue t, 5 gied @ A ty —ty_g = gfed g 21 1

It n' term of an A.P. is denoted by t,then t,—t,_; isdenoted by ........

18.  \1-cos?H W ... 2 2 1
\/1—00526 isequal to ..............

19.  tan30° &1 A ... Bl B 1
Thevaueof tan30°= ..........

20. HIEH — 9gAR = ... (wrem — wIfeeh) 1
Mean—Mode = ................ (Mean — Median)

afa &g I Ug:-

Very Short Questions :—

21. fe@md f& fean o gefieor gm eifeqiedt, fadieft =n enfem 21 2
2x+3y=7 3R 6x+5y=11

Show that the given simultaneous equations are consistent, inconsistent or dependent.
2X+3y=7 and 6x+5y=11

22. X & fau a1 &1 10x—%:3 2

Solvefor X, 10x—% =3

23.  MNABC T @@ fiys @ et [AF90°, AM [BC. AABM der ACAM #
ey oamd| 2
AABC is aright triangle in which 90°, AM [BC. Show the relation between
AABM and ACAM .
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24. TRA W HE OFa &1 o= 2

AP 3R AQ =Ted fag A T T '
o e ¥ [OBQ=20° A
5

#1 [PAQ =M el 2

In the adjoin figure, O is the centre of a circle. From external point A, two tangents
AP and AQ drawn on thecircle. If [ORQ = 20° then find measure of [[PAQ.

25.  fag (2, 3) @ (4, 1) & &9 & 34 @ HifC 2

Find the distance between the points (2, 3) and (4, 1).
26. 7 Gto B ot 94 & Freume @ oRifafa 9@ W fEe s o 0° R 2

Find the perimeter of a sector of acircle whose central angleis 90° and radius 7 cm.

27. 8 9o WS At o % I T HEWH o ] HAHA A i 2

Find the area of the circle that can be inscribed in a square of side 8 cm.

28. fe@m f fag A(0,1), B(2,3), C(3, 4) ®@ = 2
Show that the points A(0, 1), B(2, 3), C(3, 4) are collinear.

29. afg 59n@=4d c0sO IR cot® F g | 2
If 55N =4 then find cos and cotb.

30. fag & & €in40° +sn75° = cos15° + cos50° 2
Provethat sin40° + Sin75° = cos15° + cos50° .

31, @ M AR goft 3, 8, 13, 18, . % 1591 T H A9 ol 2
Write a15™ term of thegiven A.P. 3, 8, 13, 18, ...........

Y IAT U9 -

Short Questions.—

3. fog = fF V2 = s gen 2 3

Provethat </2 isan irrational number.

33. T WA 96 TS 404 HT HoHo Ao ToHo IRA PGS fafyr ¥ @+ 3

Find the HCF and LCM of 96 and 404 by prime factorization method.
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34.

35.

36.

37.

38.

39.

40.

41.

B - 6X+3y—6xy =03 2x+4y—5xy=0 3
Solve the equation :— 6x+ 3y —6xy =0 and 2x+ 4y —5xy =0

feema wefieRtor 2x2 —/Bx+1=0 % Hall = wegfd A6 w1 3
Find the nature of roots for the quadratic equation 2x2 —/5x+1=0.

et AABCH AD [BC, f% %zg—ézﬁmﬁ% AABC gshi01 59 €1 3

: BD DA e
In any triangle AABC, AD [BC. If —— =—— then prove that AABCis right
DA DC
triangle.
fog A(5,12) & y-31&1 ¥ Taed g4 71 H 3

Find the perpendicular distance of point A(5, 12) from y-axis.
Th 9T H 6 o T 5 Aien Wg 1 A o ¥ W U i AgesAl el Wi df 6
A & TH hl Wihar A ] 3

A bag contains 6 red and 5 blue balls. If a ball is drawn at random. Find the
probability the ball is not red.

fag ¢ fF cos* A —sin*A =2cos? A -1 3
Provethat cos* A —sin*A = 2cos? A —1.

2tan? 45° + cos® 30° —sin2 60° 1 HH TehTel| 3
Find the value of 2tan? 45° + cos? 30° —sin® 60°.

gt ThHa &1 FHE IX FT 51 ASH Kl HaRdl (Yo H) w1 TH GAGU A TN

R frfefaa e g fhe U A S T Sy 3
S (Uto ®) | TIgehl sl W@
140 ¥ ¥ 4
145 9 ¥ 11
150 & ¥ 29
155 9 ¥ 40
160 ¥ ™ 46
165 © ™ 51
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A survey regarding the heights (in cm) of 51 boys of class IX of a school was
conducted and the following data was obtained. Find the median height.

Height (incm.) | Numbersof Boys
less than 140 4
lessthan 145 11
less than 150 29
less than 155 40
less than 160 46
less than 165 51
42.  TrAfafea siewel &1 9gas A hifsg 3

UTedieh 109|209 (309|409 | 509 | 609 | 709 | 80 9©
*H | %9 | w9 | ®H Exe) e Exe) x|

AR SAT 25 40 60 75 95 130 195 245

Find the mode of the following data.

Marks less less less less less less less less
than than | than | than than than than than
10 20 30 40 50 60 70 80

Frequency | 25 40 60 75 95 130 195 245

" IO U9 -
L ong Question :—

43. U 3MFAFRR TS 1 Zhel Todent W9 44cm x 18cm 1 38 o & 31&Y Higa
SRR 1 A S @1 S 1 TR R | 5

A rectangular sheet of paper of dimension 44cm x 18cm isrolled aong its length and
acylinder isformed. Find volume of cylinder.
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44.

45.

46.

47.

Teh IR & UE T Tk HhH & INY k1 I3 w01 30° 91 A6 & UE 9 R &
I 7 3= HIU 45° B TR T AR 30 HX © @ HBE HT AR T FE 5

The angle of elevation of the top of a building from foot of the tower is 30° and the
angle of elevation of top of the tower from the foot of the building is 45°. If the tower
is 30m high, find the height of the building.

31gdar ‘OR’
gd & S=Ev & 30° & fou <R w1 oM@ Hl wErE 30 X € @ i & 60° &
3= Hiv % U SR ® d6E 7| |

If the shadow of atower is 30m long when sun’s elevation is 30°. What is the length
of the shadow when sun’s elevation is 60° ?

et fafy | w3 H ' 5
Xx—y+1=0
3x+2y-12=0
Graphically solve the simultaneous equation.
Xx—y+1=0
3x+2y-12=0

fag ¢ % 90 & =9® & oR faget w = T wet @ wmid e 2 5
Prove that the tangents drawn at the ends of a diameter of acircle are parallel.

3yt ‘OR’
fog o o qushior Brage & ol o1 ol o S ol & ol % A &% e el R

Prove that in aright triangle, the square on the hypotenuse is equal to the sum of the
squares on the other two sides.

T s ABC &t W@ & siafe AB =4cm, BC=5cm, AC=6cm | 399 30 TR

e = T W SR FEER e AABC &) ssisti & :—ZSTFH I 5

Construct atriangle ABC in which AB = 4cm, BC = 5cm, AC = 6¢cm. Then construct
another triangle whose sides are % times the corresponding sides of AABC.

gt ‘OR’
7 "o HT TH XA @1 Wi 39 3 : 5 & UM | 2id: fawfem 3

Draw a line segment of length 7cm. Find a point on it which divides internally it in
theratio 3:5.
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SOLUTION
(1 @) (2) (M 3) &= 4 (5) (=)

(6) (M (7) (@) (8) (™) 9) (=) (10) (M)
(11) o= (12)§ (13) 60° (14) @a@  (15) n-1
(16) @ fog (17) WE-3® (d) (18) dn@ (19) %
(20) 3

(21) @ ™ giieor 2x+3y=7,6x+5y=11¥

a_2 b_3
ay 6’ b2 5
LY
a b
L iRt o stferiedi 21
(22) lOX—1:3
X
2
N 10x —1:3

—  10x2-3x-1=0

—  10x2 —5x+2x-1=0
= (2x=-D)(Bx+1)=0

rx=1 =L
2" 5
(23) fo #, [BAC=90° 3ik AM [BC
™ [ TIANMIB = [ANIC = 90°
[<ABM ~ ACAM
n C I S THE B
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(24)

4

@ m e [ORQ=20°

[ TPAQ=2x [OBQ
= 2x 20° = 40°

(25) fag (2,3) &R (4, 1) & s= = @

=04 —%2)2 + (v - 2)?

=\(2- 42+ (3-12 =B =2J2 wr§
(26) Tu@e &t 9RkfAfa (Perimeter of sector)

:7+7+2x§x7x£
7 360

=14+11=25cm

(27) o &1 9sn (side of square) = 8cm

L 9a =t a1 =4cm

Qb

e Id T EFFA = mr 2
:§><16:§cm2
7 7

(28) = fagei A0, 1), B(2, 3) 3R C(3, 4) ¥ 54 AABC &1 &
:%m@—®+2m—nﬂwf$]

=Lo+6-6=0
2
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9f AABC &1 &% =0
Ia: dFl fag W@ €

(29) 5snB=4 I__SLITI9=g=

Tlo

&

qg—l"
p=4,h=5b="?

ChEh2 - p? =\(5)2 - (4)? =/25-16 =9 =3

37d: cosO :§ qem cot =§
5 4

(30) sSn40°+sn75° =sin(90 —50) + sin(90 —15)
= cos50° + cosl5®
= cos15° + cos50°
(31) FHERR FO7 3, 8, 13, 18, ......
Tef a=3 d=t,—t;=8-3=5n=15
t,=a+(n-1d
t;s =3+ (15-1)x5=3+70=73
(32) w6 2 T ufe e 2l

GE| \/_:5, p Ud q & guiieh den WA UGS e B

Tt FH W
02
2:—2 or p2:2q2 (99 9&n) (1)
q
[p * &9 ¥ 2 (2)
TH: g R p = 2m, m quiss 2
[pf = 4m?
or, 2g°=2m? (@01 ®)
or, q2=2m2
[q «ff &9 gen 2 w (3)
(2) 3R (3) § p,q U9 & € @AY p AN q H SWAS UEES 2 Wl S
FHeq & fauda B

31d: /2 afEa He, I8 "/EA e 7
i /2 i wen 2
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(33) 96=2%x2%2x2x2x%x3
404 =2x% 2x101
L HoHo =2%x2=4
ToHo =2%x 2x 2x 2% 2% 3% 101= 9696
(34) 6x+3y—-6xy=0
or, 6x+ 3y = 6xy
Xy § 9 3 W
:3:6 (1)
y X
Td: 2x+ 4y =5xy
Xy § 9N 3 W
2405 L
y X
egn.(2) x 3—egn.(1)

e (1) H xz1<@ﬁﬂ1-§=6—3=3

[3=6 [ V2
g ¢ X=1 y=2
(35) 2x° —~[Bx+1=0
78l a=2,b=-5,c=1
D= b? —4ac=(-/5)2 - 4x 2x1=5-4x2x1

=5-8=-3<0
3T A arfash T orT|
(36) ABDA a1 ACDA H,
[BDA = [CDA =90°
D e ¥,
BD _DA
, o DA~ DC
[ABDA ~ ACDA
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[IBAD = [AGD
[90° — [ABD = [AQGD
sfq [ABD + [ACD = 90°
[ TBAC = 90°

3d: A ABCTH THHU FHet 2|

(37) y- 3181 R fag &1 s (0, 12)

> - Afs,2) (5, 12) ¥ ow@d g (0, 12)
= J(0-5)2 + 12-12)2
o 5 )
= /25+0=5 T
(38) o H et WS H G@nm =6+5=11
g9g FHe uRomE & gem =11
A IR A Ho 6

[CP(ae 7g) = = —
( ) 99 He RO ® Ho 11

11 11 11

: . 11—
P (& 7% &) = o °_U-Ep
(39) cos*A—sin*A= (cosZA)2 —(sin2 A)2

= (cos2 A+ sinZA)(cos2 A - sinZA)
= cos’ A —sin®A . Ccos?A +sin®A =1
= cos? A — @a- coszA)

= 20052A -1

. (3% (J3)°
2 o 2 o 2 o — X 2 —_ —_] —
(40) 2tan“45° + cos” 30° —sin“60° = 2x (1) +k2J LZJ

—ox1+5_325
4 4
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(41)

EU IR AT ol SRar
(ci.) (f) (cOf )
140 9 &Y 4 4
140 — 145 7 11
145 — 150 18 29
150 — 155 11 40
155 — 160 6 46
160 — 165 5 61
N =51

3@ N=51%

a N_oS o553
2 2

(3-c)
T 9, aeh S1+22 2 uh

f
A 145 — 150 ek o el | A B
| (=1 ") =145
e A 145 — 150 S 3l el aff i el aRarar (of ) =11
w145 — 150 ) SRaRar f =18 qen =t " (h) =5 R

255-11 72.5

ek =145+ ><5:l45+§:149.03

@ TSH H HEmF HEE =149.03cm B

(42)

10 § =9 25 25

10 — 20 40 15 (=40 — 25)
20 — 30 60 20 (=60 — 40)
30 — 40 75 15 (=75 — 60)
40 — 50 95 20 (=95 — 75)
50 — 60 130 35 (=130 — 95)
60 — 70 195 65 (=195 — 130)
70 — 80 245 50 (=245— 195)
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gAH o1 60 — 70 § HIfh THR! TRANGl Gl Bl

(Mode) My =1 + —1°— 1=

- =L O Xj
2fo— f—l_ fl

&

Slel,
| =Modal class 21eiiq sifehad SeaRal aren ot ol e €
fo=Moda class ! aRwRal
f_4 =Moda class & S Ugcl el o 1 IR
f, = Modal class & e 1% oTell a7 i SRRl
i = 1 T Hi AdTS
Ridf

| =60, fo=65, f_; =35, f; =50,i =10
65-35

3 dggoish =60+ X

(2% 65)—-35-50

=60+ 300 —60+@

10

130-85 45
20
:60+?:60+ 6.7=66.7 Ans.
(43)
’br?l,f &
18 )8 e
;_,qc.,a = am—
AR TS ] @alE § Al T4 2

[ <o i 9fifsr = 2mr = 44cm

_4AxT_
2% 22

I &1 S (h) =18cm

or, r

cm

L <M #t amaq = nrh

= % x 72 x18= 2772cm® Ans.
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(44)

o % T # o hm @ 9o BD = xcm

AABD ¥,

ACBD ¥,
tan30° = h
30

1_h
J3 30

or, h:ﬂ

NE

or,

30 3

or, h=—f4x

NERE

L 9™ &l Fo =17.32m

AABC ¥,
tan30° = g
30

1_h
J3 30
or, h=103

T: AABD ¥,
tan60° = "
X

\/5:10\/5

or,

or, x=10m

=10/3m=10x1.732m

AT ‘OR’
Sun
éo 3 "
Cra
"bz_- SELIRRRRREINAR 30»*“”&
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BRI HI dae =10m
(45) GH x—y+1=049
y=x+1 . (1)

gt 3x+2y—12=09
212—3x
2
FHto(1) T UM RO

Gl & e (2, 3) W faest *id €1 ofd: ' x=2, y=3

(46) #rF f% % ga fo@h &= O =l

AB gd &1 =9 2| -
CD den EFT wef Wl b
-+ AB LCD 7t AB CEF

l\""
3

[ TCAB=90° qen [ABF=90°
[ICAB = [ABF @ ¥ THIR HI0 ¢
[CD| EF Proved.

31eET ‘OR’
o 5 ABCU® Goehion B9S2
s [BF 90°
[CAC =i 2 D
BD [LAC ern

AADB den AABC d :
RS &
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(47)

[BAD = [BAC (3¥afTe i)
[ADB = [ABC=90°
[_AADB ~ AABC

B_AD o ABZ=ACXAD .. (1)
AC AB

T ¥R ABDC @ AABC «ft m&T 3

C_DC . BCc2=AcxDC .. (2)
AC BC

(1)+(2) FE W

AB? + BC? = AC(AD + DC)
=ACxAC
= AC?

or, AC?=AB?+BC? Proved.

IATEE ok TOT;—

e

AABC &1

BC =5cm
B %= ¥ AB=4cm =9 @i
C &< ¥ AC=6com =™ @i=n #wed fog

BX @™ BB; = BB, = B,B; fa= @i

By W@ Cal fiemi

B,¥ B,C'||BsC &4l

C' ¥ CA’||CA Hid|

st foys A'BC' &I
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34T ‘OR’

(i) AB=7cm &=
(i) A fag 9 =& T AX @il
AX WAA;=A1A> =AsA3,......=A7Ag, 5+ 3=8 TR =9 il
(iii) BAg ! foam
(iv) AgP|BAg @il fog P,AB %! 3:5¥ siedt 2
[CAP:PB=3:5

3 YR Pfag ABI 3:5 & 3 o od: faenfe o 21
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MATHEMATICS - ( 7Tforq )

THY : 3 HeT 15 fiee Ui : 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

Ul B el =T : 47

Total No. of Questions : 47

e & ford A -

Instructions to the Candidete :

1. Tl I U Iesl § & ST <

Candidates are required to give their answers in their own words as far Practicable.

2. Sl AR BIRA W Y gV o pfe fafde axd €|

Figures in the right hand margin indicate full marks.

3. ol g aifvaty €

All Questions are Compulsory.

4. 39 UUS B UGH @ fov 15 e @1 afaRed a9y foar mar 2|

15 Minutes of extra time have been allotted for Candidates to read the Questions.
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Tfura (Ve-7)

MATH (SET-7)
|quYg : 3 "7 15 faAe

Time: 3Hrs15Min. Full Marks: 100

‘Hﬁ'?ﬁﬂ'@:—

Choose the correct answer :-

1.  fefafea 9 o9 omfeg € 2 1
(%) \/% (@) 8l (M) 15 (%) @

Which of the following number isirrational ?
@ \/% (b) V81 (©) V15 ©) @

2. Tt o #H wgug & € ? 1
(F) —TX (@) y?++2 () 3/Xx+2x+7 (F) 4x% —3x+7
Which of the following is not polynomials.

(8 —7x (b) y? +2 (©) 3/x+2x+7 (d) 4x2—3x+7
3. Hﬁsnezgﬁﬁ cosO dM BM— 1
4 4 5 3
(%) g (@) 5 (M) g (=) g

If SN :g then value of cos0.

4 4 5 3
a — b) — c) — d) —
@ 5 (b) 3 (© 5 (d) =
4. Ife 2c0s0=+/3 & @ 6 FT °H B— 1
(%) 45° (@) 60° (71) 30° (1) 90°
If 2cosO = \/:—3 then thevalue of 0.
(a) 45° (b) 60° (c) 30° (d) 90°
5. frefafad & S-G9 52 ®T TRl 781 8 9hdl 2l 1
(%) % (@) -15 (1) 15% (1) 0.7%
In the following which is not the probability of an event ?
@ % (b) —15 (c) 15% (d) 0.7%
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6. Ifs forelt ga w1 oo S R A 9= @ WA T T Jdl & A% BT ST =

B 1
(F) 1:2 (@) 1:4 () 4:1 () 2:1
If the radius of a circle becomes twice then the ratio of any of the old and new circle
will be
@1:2 (b)1:4 (©4:1 (d)2:1

7. fage (=5, 7) R (—1,3) & &9 & @ T 1
(F) 22 (@) 3J2 (M 42 () 52
Find the distance between the point (-5, 7) and (-1, 3)
@ 2v2 (b) 32 (© 4/2 (d) 5v2

8.  Wed WY & O & gdl % IwAtTe w9l T@ed w gen fha 2l 1
() 1 (@) 2 (M) 3 (®) 4
How many are common tangents if two circle are touched externally each other ?
@1 (b) 2 (©3 (d) 4

9. fE9Iq 9gug & Y% H1 GEA fha g © 2 1
() 2 (@) 3 (M) 1 (®) 4
How many are numbers of zeroes in quadratic polynomial ?
(@ 2 (b) 3 ©1 (d)4

10. A 9gHR P(x) = x> —2x+ 5" Y% o,B Bl o+ H GH M- 1
() 5 (@) =5 (M) 2 (®) —2

If a,  arethe zeroes of the polynomia P(x) = x> —2x + 5 thenvalueof o + B will be
(@5 (b) -5 ()2 (d)-2

T Tt &t gfd & -

Fill in theblanks:-

11. fomo o sifysran aRaRar aren & ......... a1l e B 1
In afrequency distribution the class having maximum frequency issaid to be..............
12. <@ fFE owA % 1< fHdt fom % ded ford 9 © SH FEd 2l 1

When the terms of a sequence has written in a difinite pattern than it is called

13, T e, @& 1
misan......... number.
14. @ S e TEU e, FEAN 2 1
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15. f& & faa § AABCH [AF90° 3R AD [BC | 3t BD=9%Ho du CD =4

Yeffo, @ AD = v 1
In the given figure CA =90° and AD LB if BD = 9cm and CD = 4cm then what
will beof AD = .............

16. A &5 ¥ P(=X, y) F T ccvvverreene BT 1
The distance of apoint P(-x, y) fromtheoriginis........
17. i qa # o et fag (—4, 0) & 991 &1 A1 e, B 1
The value of abscissa of point (4, 0) situated at Cartesian plane ..........
18.  7sec?0—7tan?0=.......... 1
19. A 39=90°, @ tanB=......... 1

If 30 =90°, thenthevalueof tan® is..............
20 @a®d e = % fau d||m =gm 1

d|| mforthevaueof a...............
7

f9 - /0o

131‘("?" > ann

31t g ST U9:-

Very Short Questions :—

21.  fgoma ogug @@ Y, TS el 1 AN TE [UFRA wEH: —3 SR 2 B 2
Find the quadratic polynomial. If sum and product of zeroes are —3 and 2 respectively.

22. Hel ® Yehfa FqET A fgema e 2x2 —6x +3=0 @I 2

If quadratic equation is 2x> — 6x + 3= 0 then find the nature of its roots.
23.  ABC U# gHarg B 2, foet qeieh 9ol a 9o © a1 fag wifsw fom frgs =

W%a@:ﬁo B 2

ABC is an equilateral triangle whose each sides are a cm then prove that altitude of

V3

the triangle will be 7a ?
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24, frHt 9@ & &5 9 5 ¥ R R a5 A ¥ T T waul T &t dari 4 o
2, @ ga &1 B Fer 2

From a point A which is at the distance 5 cm from the centre of the circle. The length
of the tangent drawn on the circleis4 cm. Find its radius.

25.  fagafl (acosB,0) @=n (0,asin®) & o= =i U Ferml| 2
Find out the distance between the points (acos6, 0) and (0, asing).
26. AR T g & &b IR R w1 HeAHs WH GHH €, 9 ga i B = e 2 2

What will be the radius of the circle if the area of a circle and circumferences are
numerically same?
27. iR 1 A fehtel, TRt e 28 Uifto @R SMYR w1 fen 21 Sefto 2l 2

Find the volume of the cone whose height 28 cm and base of radiusis 21cm.

28. 3Rk fag A(3 k) @ B(k,5)¥ fag P(0, 2) ®t 3@l 9M & df k &1 HF A HLR2
If the point P(0, 2) is equidistant from the points A(3, k) and B(k, 5). Find the value of k.

29. afk 9=30°a fag X fF 4cos>6 —3cosb = 0 2
If 8 =30° then prove that 4c0s>0 —3cosB=0.

30. 9T TUMEE faf gR 7, 11, 19 1 HeWH ek 3R oEad SHEdS A Sl 2

Find the HCF and LCM of 7, 11, 19 by prime factorisation method.
31, GER AU 0.6, 1.7, 2.8, 3.9, we. % TUH 100 T&I 1 AN @ HL 2

Find the sum of first 100 terms of the A.P. 0.6, 1.7, 2.8, 3.9, ...........

Y ITT UIT -

Short Questions.—

32, fag &t 5 7 = oy wen R 3
Prove that \/7 is an irrational number.

33, frafafeq aRarar deq frel Aiged & 68 SUAeTl i fasiel &1 Wifas @uq

Tl 81 3R Wed qd fRfew 3

Following are the frequency distribution of a colony where monthly electric
consumption of 68 consumers shows then, what will be their mean ?

s @ud
(gfe #)
Monthly
Consumption
(Unit)
SYHTATA
Eagkere)
No. of
Consumers

5—25 | 25—45| 45—65 | 65—85 | 85—105 | 105—125 | 125—145
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34.

35.

36.

37.

38.

39.

40.

41.

42.

x-1 y-2 x-1 -2
Solveit- >+~ =2ad 2 3 =
x-1 y-2 Xx-1 y-2
fgoma @HieRor 2x% — 3x + 4= 01 fafgaax 3R geii 1 wehfa @ Hifsu) 3

Find the discriminant and nature of the roots of the quadratic equation
2x% —3x+4=0.

aft AABCH AD [BC ® d fag ¢ f AB? —AC? = BD? -CD? 3
Ifin AABC AD [BLC provethat AB2 - AC? = BD? —CD?2.
k =1 A T Hifse afs 3= fagT (16, 2), (k, —8) T (4, —10) T&ET I 3

Find the value of Kk if three points (16, 2), (k, —8) and (4, —10) are collinear.

frel ®wROT W 10 ©UE 9 120 =0 U 9@ fie T € wed <@ IE & oadn S
Tohdl B fop b U @ U ® A1 3resl B 39 el § @ uh U9 Agssdar ke
S @1 TehTel T U W STeSt BN T Wifdehdl Fd SISy 3

Due to some reason 10 damage pen and 120 good pens has mix. It can not be seen
only by searching which is damage or which is good. From this mix. the pensis taken
out at random. Find the probability of pen which is good after taking out.

2
fag wifsT fo (1-cotA)" cot? A 3
1-tanA
Prove that (1 COtA} cotzA.
A

fag sifsw fo

1-COSE\_ cosecA —cot A, Prove that 1-cosA _ COSecA — cot A 3

1+ cosA 1+ cosA
9ft & T fag ¥ & dAR & U fag ¥ 60 WR # T W B HhR % frew @@
I R0 60° B HHAR H1 SR F0d HifSQ 3

A point from aland where base of tower point’s distance is 60 meter. Tower’'s angles
of elevation is 60° then find the height of tower.

45° =1 FreRTuTfita Tqdra fehTed | 3

Find the trigonometrical ratios of 45°.
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Long Question :—

43.  TH fodm &1 B 6 Uflo Ol U Y AHR K1 €, W I A O TH
Il W ARG 21 3@ faeie &1 g§yol S 11 ¥fto 21 39 fads &1 gqol
TS &A%e Ad ey 5

A toy is in the form of a cone of radius 6 cm. mounted on a hemisphere of same

radius. The total height of the toy is 11 cm. Find the total surface area of the toy.
44, T fafy 9 7F Ha— 5

X+3y=6dAdM 2x—-4y=12
Solve graphically:— x+3y=6 and 2x—-4y=12

45.  afx S R gu S &1 AeAE 28.5 ® Al x IRy HT HE F Hife) 3
ot
. 0-10 | 10-20 | 20-30 | 30-40 | 40-50 |50—60 | =W
A
ARERAT | 4 X 21 15 y 5 60

If following are the frequency distribution of median then find the value of x and 'y ?

Class
0-10|10-20| 20-30 | 30—-40 | 40-50 | 5060 | Tota
Interval
Frequency 4 X 21 13 y 5 60

46. IR O F= o) 90 W ad fag T ¥ < onf Wl TP den 7Q ©i<h T 2,
fag wifsT f% [PTIQ = 2 [ORQ 5
If two tangents TP and TQ are drawn to a circle with centre O from a external point T
then provethat [PTIQ =2 [ORQ.

47. 5.6 Uilo ol U (@ES WU R TW 2 : 3 % UM W fawifea sifu g
AT ! AT 5
Draw aline segment which is 5.6 cm long divided into 2 : 3 then measure each parts ?

OR

3.5 "o 5o o1 9 @9l 9% IR T 99arg s el

Draw acircle whoseradiusis 3.5 cm and form circumscribe equilateral triangle.
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SOLUTION

(1) (M (2) (@m 3) (=®) () (5) (@)
(6) (M (7) () (8) (M (9 (=H) (10) (M)
(11) =ga&d  (12) %@t (13) omfd (14) Tt (15) 6 §o
(16) X2 +y? (17) —4 (18) 7 (19) % (20) 20°

(21) a=-3B=2
fgoma sgug = x2 — (0 + B)x + aP
=x% —(-3+ 2)x + (-3x 2)
=x° +x-6
(22) feoma wfieRor 2x% —6x+3=0
ax? + bx+c=0 ¥ ol HH W
a=2,b=6,c=3
D=b’-4ac=(-6)2 -4x2x3=36-24=12
12>0
[ fgoma et & arfass ik fa=1 ot el
(23) AABCH AB=BC=CA=ad AD [BC

A ADB ¥, 1
2 2
_ 2 (8] _ 2 a
III_\/(a) _(2] \/a 4 y <
= ﬂz—ﬁaﬁtﬁo ‘ 7}' D q/lc
Va4 2 L——a —>
%raa@sﬂﬂa’a—@a gto (W)

T2

(24) Tk gq SR &= Tfto O 21 =T fag A O ool W PA &Y o« 4 Wt ?
A FHER O ¥ Il 5 Tl R

[—QAPO = 90°
319 HHST AOPA H,
OA? = PA? + OP? - Yew,
i, (5) = (4) + OP? e A
=, 25—16 = OP?
a7, J9=0P [COP=3cm
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(25) fagsfi (acosh,0) T (0,asin®) & &= &t I
. \/((acose)z _ (0)2) " ((0)2 _ (asine)z)

:\/azcosze +a?sin?e

:\/az(cosze+sin29):\/a2><1:a
(26) T i IR = I HT &AHA
2nR = R?
2R=R?
R =2 |k
(27) %WW=%nr2hﬁ,

:Exgx21x21x28
3 7

=22 x 21x 28cm®

= 12936 cm®
(28) WEHER,
fom #:-  PA=PB B oy B(kiS)
i1 5,  PAZ = PB? (D)
3, PA%=(0-3)%+(2-k)?

PB? = (0—k)? + (2-5)?
T (1) 9
(0-3)* +(2-K)* = (0-3)* +(2-k)°
T, 9+4+k>—4k=k?>+9
a1, 4k =4
(k31
(29) LHS=4cos®6 — 3cos6 = 4cos® 30° — 3cos30°

(B (B 3B 33
=) )Y e T

=¥—%@:O RHS Proved

(30) weyem W <t gE Hemsll & 1w [urEs fored R
7=7x1 11=11x1 3R 19=19x1
L doHo =7 x11x19=1463, HoHo =1 Ans.

(31) HEfF AP % U8l U a @ dd-3fal d ®
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a=06d=17-06=11
T AP. % 100 9&I &1 I @ HE 2

S, :g[2a+(n—1)d] ¥ a=06,d=11n=100 W@ W

S0 = %[2 x 0.6+ (100-1) x1.1] =50(1.2 + 99 x 1.1)

=50(1.2+108.9) =50x%110.1=5505 Ans.
(32) = T A7 ©% o "en 1 wgid e Q) quie a 3R b(b#0) W X HeRd 2
f& \/_=%%|
I a @R b # 1 % IRk HE sWARTE [orEs B df ¥ U SWarTe s ¥
T A a 3R b I HEANSH o Fehd B1 3A: by7 =a =l
T vl ® A A W TH
7b% = a® . (1) 9 e 2l
3@ a2,7 9 fawfoa B zafaw 7,a &1 o fawfsa wam
qr f6 a=7c, el wh guie 2
a &1 AF g (1) ¥ W R,
702 = (7¢)?, 7b% = 49¢?, b? = 7¢?
b2, 7 § fawife 21 gHfery 7, b i fawifd am 3@: a 3R b & %8 9 =9 Th
ST TUET 7 B W SR 9o 1 R W B ® R a el b weswy R
T 7% feRina e eTot Jfeqel Fea & w0 W gen A7 U uhee wen 2
31d: frewd i gan fF 7 w sfag gen R

(33)
HIfeeh @ad g e S f x x
(x) (f)
5-25 15 4 60
25—45 35 5 175
45—65 55 10 550
65—85 75 21 1575
85—105 95 15 1425
105—125 115 7 805
125—145 135 6 810
> f =68 > fx=5400
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Wﬂ=§z=ﬁ@=mAﬂAm
> f 68

5 1
34 + =2 o (1
GH 55 (1)
6 3
x-1 y-2

. (2)

FHlo(1) & 3 & O X THlo(2) & WY S |,
15 3 6 3/
:>=<—1+y/—2+ x—1_y/2_6+1
21 3

—=7 o, —=1
x—-1 x-1

or,

or, Xx—=1=3 or, x=3+1=4 [ Xk 4

(1) § x &1 A BH W

(35) 2x2-3x+4=0
a=2,b=-3c=4
D=b?—-4ac=(-3)2-4x2x4=9-32=-23
.- D<0, I aries gl & 2l
(36) THHUT AABD H
2 2 2 B
BD? =AB%? —AD? ..(1)
T9: ¥HR AADC o
CD?=AC?-AD? ..(2)
o (1) ¥ (2) &l WH W A
BD? - CD? = (AB%2 ~AD?) — (AC? —AD?)

= AB? —M—ACZ +9A§2

= AB%2 —AC? Proved
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(37) HMH ’l%i’é?lT ﬁh_ A(Xl, yl) = (16, 2)
B(x, ¥2) = (k, -8)
3R Clxs, ¥3) = (4,-10)
Ifg AABC &1 &o = 0 df fag A,B,C @t gl

1
= E[Xl(y2 —y3) + Xo(y3— Y1) + X3(y1 — ¥2)] =0

U

16(-8+10) + k(<10—2) + 4(2+8) =0 [ % 2 0]

16x2+kx-12+4x10=0
32-12k+40=0

=
=
= —-12k+72=0
=

—-12k = -72 I:E#E=6
12

Iq: T T fag k=6 & W 2l

(38) A &I A W& = 10 + 120 = 130

120 12
P =W U) =—=""Ans.
(e ) 130 13
( cosA)?
(1-cotA)’ _[ 1 gnA
39) L.HS.= — SN
(39) Ll—tanA) 1_smAJ
CosA
( SnA —cosA)? ,
_|  snA _(SinA—cosA>< cosA )
CosA —sinA sSnA cosA—sinAJ
COsA
; 2
-(SnA-CsA, oA }=[ C‘.)SA] =cot? A =RH.S Proved
SinA —(sinA - cosA) SinA
(40) LH.S = 1-cosA _ [1-cosA  |1-cosA
1+cosA \1+cosA \1-cosA

_|@-cosA)2 _ [(1-cosA)? ( 1 _cosAjz
1—cos? A sin?A SnA sinA

= \/(cosecA —cotA)2 = cosecA —cotA = R.H.S Proved
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(41) 1 fF AB HHR ? fgat S hdlo 31 Yff & ©F fog C AR & 9% B @
60 Ho &1 T W & T BC= 60 Ho

TR AABC H
tangor= 2B =N
BC 60
h
=5 T om
[Ch# 60+/3 = 60x1.732
=103.92 o

(42) = % ABC U& 9ushivl qafgeng A B1 TS9O 5o 9o x 21
[ 1[A¥ [CF45°, [BF90°
7 fF AB=BC=x
TEMRE Y99 9, 96 A ABC H,
FHIT = AT + ST
AC? = ABZ + BC? = x2 + x% = 2x2 g2

IIsz/gzx/Ex

. AB X 1 B
Ad: sSind5°=——=——+=—"—_ c0s45° = =2 ==
AC x/2 2 AC xJ2 2

3
<
=

(43) g &1 B = 1gmel &) e
R=6cmTto
fgei™ &1 Het S = 11 Yo
LY &1 € = (11 — 6) = 5 YHlo
v #1 fides S =4 R2 + h2
= /62 + 5% = /36 + 25 = /65 = 7.81 Vo
A HT R TR GABA = Yk H TST &AFA + TGS I YT &k
= irl + 2nR? = MR(l + 2R)

- % X 6x (7.81+2x 6) = % x6x19.81=373.56 Ans
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(44) Xx+3y=6 ..(0)
dqR 2x—4y=12 ...(2)

gto(1) @
X+3y=6
or, X=6-6y

X

y

xy) | (60

3.1

6.2

Hio(2) ¥ 2x—4y=

or, 2x=12+4y
_12+4y

or, X
2

12

xy) | (60

T @l w1 HeH fag (6, 0) 1 @: TA X =6, y=0 I
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(45)

o s AR RERIEREIGI]
(f) (cd)

0—10 4 4
10—20 X 4+ X
20—-30 21 25+ X
30—40 15 40 + X
40—-50 y 40+x+y
50—60 5 45+ x+y
ol N =60

= 45+ x+ y=60
= X+y=60-45=15 [y315—X ()
e = 28.5 (f&am g3m @) N =60

l__%:so C "reeh ot = 20 — 30
T&l, 1=20,h=10,N=60,C=4+x, f =21

I+E—C
ek = 2f x

@—(4+x)
— 285 =20+ 42— x10
21

(26 - X)

= 285=20+ x 10

= 598.5=420+ 260 -10 x
= -81.5=-10x

[ Xxl= BisT 8.15

gdto (1) ¥ y=15-8.15=6.85
3d: x=8.15, y=6.85
(46) T ™I F —OF= I 0 & g fag T H TP iR
TQ T7ei @t @it T & S gq H HA:
P 3R Q fagati W wusl &t B
fag & © 6 [PTIQ =2 [0RQ
A — AE TR [PTQ = x
dd [TQP+ [TRQ + [PIQ =180°
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A & A IO %1 g = 180°

= [TQP+ [THQ =180° - X v (1)

9f 90 & aRF fag 9 it T vt WEel # daE 9uE i 2
[ITP=TQ 3m: TPQ T THfgaE A T
[IIQP= [THQ

fog [TQP+ [TRQ =180° —x

— [IQP+ L[TQP=180°—-X

180° — x X
— [IQP= =900 -2
2 2

s [ORQ-= IZ(IEPT—EDHQ:90°—[90°—§):§

= [QRQ=3 IPTQ
= [PIQ=2[0ORQ Proved
(47) T & =WT:—
(%) AB=5.6cm & T& @@s @il
(@) A ¥ W &I SR RO [BAX = 60° TM™1 3R B U F9 &I R THH
LABY =60° 9=l
(1) 5 faget w1 AX 3R BY W HHH |9 w1 3Afeha femam
() A 3R Bg, A, 3R By 3iR Ag, B &I faamn

(8) Ay, By i@EE ABH P W2 : 3 & 31U ¥ fawsd &l 21 PASIR PB I
Y % B UM € fF PA =2.4cm 3R PB=3.2cm
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Ydar

(%) 3.5cm &1 = § Tw ga @il

(@) 9d & &5 O H! gd & el fag A 9 faemm

() OW [ADB =120° 3ifha fman, &l B 94 W 2|

(%) Rt O W [BOC =120° 3ifehd fepan s&f W C 9d W 21

() A R <OAR=90° T A W T AQ Tl

(9) 3t YR ga & fag B iR C W «ff weft di=m

(B) T w1 @l & 9@ APQR 3ifhd TRl 38 U&R APQR 1sfie s
Rl

3

)
[ "

E
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MATHEMATICS - ( 7Tforq )

THY : 3 HeT 15 fiee Ui : 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

Ul B el =T : 47

Total No. of Questions : 47

e & ford A -

Instructions to the Candidete :

1. Tl I U Iesl § & ST <

Candidates are required to give their answers in their own words as far Practicable.

2. Sl AR BIRA W Y gV o pfe fafde axd €|

Figures in the right hand margin indicate full marks.

3. ol g aifvaty €

All Questions are Compulsory.

4. 39 UUS B UGH @ fov 15 e @1 afaRed a9y foar mar 2|

15 Minutes of extra time have been allotted for Candidates to read the Questions.
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T (Te- 8)

Maths (Set- 8)
gag : 3 "9 15 e Full Mark: 100
Time : 3 Hrs 15 Minutes
& 3™ ?\lﬁ:—
Choose the correct answer :-
1. sin45° &1 |H BT | 1
1
1 T - 1
() 2 (@) % () 7 (1) Ya
The value of sin®45° will be
1 i 1
@ 2 (b) Y (©) 7 (d) Y
2. Trafafed o o 9fe 9e ¢ 2 1
49 32 81 98
() o1 (&) & (M) \/; (a) 18
Which of the following is rational Number ?
49 32 81 98
(@) 101 (b) o (c) ol (d) 128
3. sin’0 + cos?0 TR @- 1
(h) 2 (@) -1 (M 1 (%) 3
sin’ + cos?0 isequal to
(@ 2 (b) -1 (© 1 (d) 3
4. fag (-2, 2) 69 9 o Bhm 1
() 9oH (@) fgdta (1) g (%) =g
Point (-2, 2) liesin which quadrant
(@ First (b) Second (c) Third (d) Fourth
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ST T Ik I3 hT &%l BN 1
() 2rh (@) 3nrh (1) 2mrh (=) mrh

The Curved Surface area of cylinder is

(@ 2rh (b) 3mrh (©) 2mrh (d) mrh
frefafed § ®F fgama aieo & ¢ 2 1
(F) (x +2)° = x(x*- 1) (@) (x + 1)°=2(x - 3)

(M (x-2) (x+2)=6 (‘Er)x2+x—12=2

Which of the following is not quadratic equation

@ (x+2°=x(x*-1) (b) (x+1)*=2(x-3)

© (x-2)(x+2)=6 (d) x2+x—12:2

afs AABCH AC*=AB?+BC’ df [B¥! @ ¢ 1
() 60° (@) 75° (1) 90° (&) 45°

What is measurement of [Bn triangle AABC if AC* = AB? + BC?

@ 60° (b) 75° (©) 90° (d) 45°
7,3,5,8,6, 10,9, 12 F AR R 7 ? 1
() 8 (@) 7 (7T) 6 (%) 7.5

What isthe median of 7, 3, 5, 8, 6, 10, 9, 12
@ 8 b) 7 © 6 (d) 7.5
T UGl I TH Y BRI S E | A W 6 M kT Gk =1 1

1 1 25 1
(#) % (@) < (M 2% =) 4

The probability of six on both if two dice will throw at once.

@ (0) < © 2 (@)

NI
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10. 4 % fohaa o 10 3R 250 & o= ggd & ? 1
(&) 60 (@) 50 () 55 (®1) 53

How many multiples between 10 and 250.
(@ 60 (b) 50 (c) 55 (d) 53
fiaa T & O -
Fill in the blanks :-
11. -10,-6,-2,2, .......... 34T T B T e g | 1

The number of termin -10, -6, -2, 2, .......... 7 N 1
12. A€ 3 demetl w1 4. W.=25 3R o W.=50 A Y& & [UHRA E....... |

If H.C.F. of two numbers are 25 and L.C.M. is 50 then what will the

13. o IR & HHA-TIG Bl oo FEd € |

14. IS 1 §TFA = Yo X o, X torreereenns 1

Areaof triangle=%2X .....ccce.... ) QTR
15. A tan 35°cot 35°=SinA Al A T AN .ccevecccnenes 21 1

16. 4+ V1I3THE oo, e ® | 1
A+ 13 1S@.oeeeireerrane. number.

17. 9 FHI0 I FTEHT BE TA T & o gt FEAa B 1 1
Such equation which has no solutioniscalled .................... equation.

18. Afg fgomd Tefiehtor 7x°-5x+1=0% =& O, B &, @ a+p = 1

If o, B be zeros of quadratic equation 7x*- 5x + 1=0thena + B =
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19.

20.

21.

22.

23.

24.

25.

26.

T TGS THEY BId € AR SAH T HI0 AR B q HAA ST ......... Bl

Two polygon will be similar if their corresponding angle are equal and

corresponding sides are................... 1
TR px°+ X + 1 =0 & T o - 4pr i oo FE @R ]
For the equation px® + gx +r =0, g° - 4prissaid to be.................

feamd & x = -3 wefieeor 2x° +5x +3=0 F & ¢ | 2
Show that x = -3 is asolution of equation 2x* + 5x + 3=0

g Hed 2}:; % TYMEE TER W[ A1 STEI STed €, 9 HY | 2
Find the decimal expansion of rational number 2}:;3 is terminating or non

terminating reccuring.

& T eremfa o Al PQ||RS® @ fag wifsw f APOQ [ASOR® | 2

In the figuresif PQ || RS then prove that APOQ CASOR

P

q

Ifg fordt 319" #1 nal 95 4n+ 58 @ 3HS JUH F U= @ R | 2

If nth term of sequenceis4n + 5 find first three term ?

Sta wife fe frer e fgemg weftenor & o =&Y 2 2

x+§=x2,x;£0

Examine following equation is quadric equation or not x + §= X%, Xx#0

4.9 "o o T aret fordt 9a &t 9Rkfy sqe | 2

Find the circumference of circle whose radiusis 4.9 cm.
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27.

28.

29.

30.

31.

32.

33.

34.

35.

EIEES TS 2
Find the value of cos”30° (1 + tan”30°)
foret ga w1 aRfy 22 Wo o B | U =gl #1 &k R | 2

Find the area of quadrant of circleif circumference of circleis 22 cm.

I B H KA IS AAFRA 150 HO' B A SHHT SAFGA F BT | 2

What will be volum if total surfaces Areaof cubeis 150 m?

we fig 9 fog (4, -3) =1 €0 9@ i | 2
Find distance from origin and point (4, -3).

I FIgIR x> X - (2K - 2) FT TH YIS -4 & @ K w1 9 Fepred 2 2

If one zero of the polynomial x*- x - (2k - 2) is-4 then find the value of K.

fag Fifm 1%7"% T i e | 3
Prove that 1 Isan irrational number.
J2

]l AR B qUTieh J1d Y fSeh a1l a1 1T 365 Bl | 3

Find two consecutive positives no whose sum of squaresis 365.

afz A =60° 3R B =30°7 fag #X tan (A-B)=_NATtNB 3

l+tan AtanB

If A =60°and B = 30° then prove that tan (A - B) = “NA B
l1+tanAtanB

=1 |roft 400 = @9 o1 Sfter et <erar @ | 3

S w1 (S o) dl 1 HE

1500-2000 14

2000-2500 56

2500-3000 60

3000-3500 86
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36.

37.

3500-4000 74

4000-4500 62

4500-5000 48

T A9 ] HEIF S Fiel Jid R

In the following table represent the time period of 400 neon Lamp.

Life time (in hours) (No. of lamps)
1500-2000 14
2000-2500 56
2500-3000 60
3000-3500 86
3500-4000 74
4000-4500 62
4500-5000 48

Find the median life time of alamp.

2
fag =t 1+ _ 00 _ cosech 3
1+ cosecd
2
Provethat 1+ —°U2 = cosecd
1+ cosecd
frafafed aRerar deq (IRoh) & fau mer afiswfaa =t | 3

I A 0-8 8-16 16-24 24-32 32-40 40-48
IREAT 10 20 14 16 18 22

The following frequency distribution (table) is
Class Interval 0-8 8-16 16-24 24-32 32-40 40-48

Frequency 10 20 14 16 18 22
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38.

39.

40.

41.

42.

43.

44.

Find the mean.

fgemd Ig9g x° - 8 % YFH A HIfWT | 3
Find the zeros of quadratic polynomial x* - 8.

T B - (X+4) (x-4)=20 3
Solve- (x+4)(x-4)=20

T 3R v S € | 9 waEfea @ R s S o 5= fw (1) e |
(2) T & 8 ? (fuad &t Iuan wY) ? 3

Ram and Shyam is a friend. What will be probability of both birthday is
(i) different (ii) same (ignore leep year)
I weRo rqs ABC § [B¥ 90°, AB = 12 90 #0, BC = 16 €0 w0

AC &1 91 Tenifaa | 3

If right angle in ABC [B ¥ 90° AB = 12 cm, BC = 16 cm then find the
valueof AC?

afg f&g (1, 2), (4, y), (X, 6) 3R (3, 5) 3 %A § o W TH FHX
R R T S T \

If point (1, 2), (4, y), (X, 6) and (3,5) are the vertices of a parallelogram

taken in order find x and y.

T fafy 9 s wifsw | 5
Solve graphically.

5x + 7y =50

7X + 5y = 46

7 M0 ST TH 9ad & Y ¥ R g * vt W I=EE w0 600 7 &
HHAR & =X 61 A o7 30° § | HEAR 1 AR T F: 5
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45.

46.

47.

The angle of eevation on the top to 7m height a building to the top of
thetower is60° and fort of the tower angle of depression is 30°. Then find

the height of the tower.

e (or)
S R fem fFd fag @ 20 90 9 TF 990 W TEl TF de & g
AR TS & SET HI0 HAI: 45° R 60° B | HS 1 SR T HISC |

The angle of elevation from a point a the ground to 20 meter height
building on which a flag top and root is respectively 45° and 60° then find
the height of aflag.

4.2 |0 0 5531 1 T 91 1 e e 6 W0 "o B are 9o &
w9 | Tl S 2§ | S| i e Fer | 5

A metal sphere of 4.2 cm radius is melted and form cylinder with radius 6
cm. Find the height of the cylinder ?

I TH F A RO TS & T F F FOT P W B Al J q

Hs TuEy T | 5

If two angles of a triangle is equal to another corresponding angles are
similar then proveit ?

5 Qowo 5= &1 TH g Wiw | ga & A T W@W wg Sy o
TH-TR ¥ 60° HT W FH ¢ | 5

Draw a circle of radius 5 cm. draw a pair of tangents to this circle which

are inclined to each other at an angle of 60°.

Y4 (or)

g8 WO o ol Tk Y@reE AB Tifau iR 3 fag P 38 wehr 3fq: fawifem

e AP_3q
PB 2
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Draw aline segment AB of length 8cm and divide its internally at P such

that 2P =3
PB 2
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SOLUTION
1. @ 2. ¥ 3. T 4, 9 5 7 6. ¥ 7.7

8. ¥ 9. & 10.% 11. 12 12. 1250 13. =i-fa=x
14. ¥%x MOX30 15 90° 16. @™ 17. fomieht
18. 5/7 19. FHEIA 20. fae==®

21. &= o i ©
2x2+5x+3=0
FHi0 ° 9W 9 A x = -3 @H W
2x2+5x+3=2(-3)2+5(-3)+3
=2x9-15+3
=18-15+3=16%#0
3/: x = -3 T3 T et &Y ' TR |

13 _ 13x5 _ 65 _ 65
2 x5 2*x5' (10)* 10000

& T ufEy e Wi et © |
23. & T emspfa # Afk PQ|RS 2, @ fag #ifsw fF APQR [CASOR # |

22. = 0.0065

999 & TR f& PQ||RS
[TH3 [S_I(THR i)
[Q# (R (THicR i) o
der [POQ = [SOR (3frdfage =)

3T: AAA FHET & SAER

[APQR CASOR

24, I& th=4n+5

t1=4x1+5=9
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25.

26.

27.

28.

29.

t,=4x2+5=13
t3=4x3+5=17
Yo @ U8 HHS: 9, 13, 17 7 |

f=T T GHIR LT

3
X+—=x%2 9,
X

a0, x3-x2-3=0
I TR § g0 T U 3 @
d ki IRy = 2mr

=2x 2549
7

=2x22x0.7
=44x0.7=30.8cm

3T I Tgua gty el © |

cos230°(1 + tanz230°) = cos230°x sec230°
1
=c0s?230°x ———=1
cos” 30°
ffir =2nr:>2x§ xr=22 - =22
qN, 2x22Xr=7x22
[r=17x22/2x22
r=7/2cm
T H AR = zllnrz
= 1 ng_g = @-: 9625 sz
4 7 4 1

T & H®A IS &0= 6 x (TFIR)’°

a1, 150 =6x12
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30.

31.

32.

MM, 150/6 = P2

aqM, 25=1

[T=1/25=5 (hdd S-S AMH)
9 &1 I = 13

= (5)3 = 125 ¥ Ans. P (4,-3)

T OP = /(4-0)% + (-3-0)2 =/4? + (-3)?
= ./16 +9 = \/2_5 = 5

37q: a1vfi g OP =5 gahreal 0 (0, 0)

fean T s g P(x) =x2-x - (2k + 2)
TEUE P(x) 1 Th T 4 ® |

[P4)=0

= (-4)%2-(-4)- (2k+2) =0
=16+4-2k-2=0

= 2k=18

=k=9

d: kT HHE 9B | Ans.
1 .
Wﬁﬁwqﬁﬁawé

IRET §E&A Hi IRAM & TIER

el paenq g € 99 q 20
AR padr qH 1 & e *E o de s9afts T © | =@ fw

p el q W AT e ® |
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33.

1 _p
g (1) 9 —=2FX
) J2 g
V2 p=gq
2p2=q? (R TWE T FH W) e (2)

2, q2 i fafa = 2 |

2, q I faqiSa & & (T80T W) o (3)
3Ad: " T fh q=2m
9 (2) kS| g% = 2p? = (2m)? = 2p?

= 4m? = 2p? = 2m? = p?

— 2, p2 ! famfa & 2 |

2,p i AT B B (T H) o (4)

TH YR (3) q1 (4) 9 98 Frohd Feperan (4) @ p @i q ¥ |

il e SwafTs s © |
T UHR o8 TH foRen faemr € o

37 wlua's’umvuﬁz"%qﬁﬁﬂw%ﬂm%l

.1 :
3 &@amﬁﬁaw%|

A foh  @TAR o7 g x SR x+1 T |

TRATTHIT
x2+ (x+1)2=365

q, x2+x2 +2x+1 =365
Iq, 2x2+ 2x-364=0

q,x2+x-182=0
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34.

35.

Iq0, x2 + 14x-13x-182 =0

qP,x(x+14)-13(x+14) =0

M, (x + 14) (x-13) = 0

[ x414=0
[x3- 14 (mH99)

Iq x-13=0

[x313

[x41=14

<feh x ¥ qUiieh © ofd: eiefise Tead 13 3R 14 © |

L.H.S. = tan (A - B) = tan(60° - 30°) = tan 30°= =
J3
RH.S = tanA-tanB _ tan60°-tan30°
l+tanAtanB 1+ tan60°.tan30°
1
_ "5 1 381_1 2 1
PGl B 2
J3
L.H.S. =R.H.S. Proved
Tel g9 91 9roh 99| © |
SIEECIGRGER:D) AR T AR
1500-2000 14 14
2000-2500 56 70
2500-3000 60 130
3000-3500 86 216
3500-4000 74 290
4000-4500 62 352
4500-5000 48 400
N = 3f = 400
g N 400 ) ~ . "
PR E:7:200 s Ik 91 GOl TRERAl 216 el o
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3000-3500 © | @ HIEIE T 3000-3500 T |

Nk
2

HEgh M= | + X i

N|Z

200-130

= 3000 + x 500

= 3000 + ;—g X 500

= 3000 + 406.98 = 3406.98

3Td: HIETF S HTAd = 3406.48 TS |

=200 |1 =300, f =86, F=130, i =500

2
36. LHS =1+ 97
1+ cosec-d
2 —
=1+ OSCO1 6520 = osec®d - 1)
1+ cosecd
-1+ (cosecd +1)(cosecd -1)
cosecd+1
=1+ cosecO - 1 = cosecb = R.H.S. Proved
37, HI%F R OMET T GRON SR i © |
T =R | 9t fae FRERAT TRARA X o foe
(C.L) (x) (f) f. x
0-8 4 10 40
8-16 12 20 240
16-24 20 14 280
24-32 28 16 448
32-40 36 18 648
40-48 44 22 968
>f =100, > fx =2624
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38.

39.

40.

e X = 2924 = 26.24 Ans,
100

o T 5o T sg9= p(x) = x2- 8
g p(x) =0

=x°-8=0

= x?- (242)*=0

=(X+24J2) (x-242)=0

= Xx+2J2=0 A, x-242 =0

— X =-242 A, X =242

37q: U T SgUE & IEF T -24/2 991 242

x+4) (x-4=20

TN, x2-42=20 TN, x*-16=20
I, x° =36 [XF+J/36=+6 [x%6, -6
9 3R v Sd T |

H9g gRomHl T | & = 365

T & S T &l STa i gL A & F& 365-1 = 364

T 364 Tl H felt i afs vam &1 59 A &1 @ 39 & 5= T3 o=
B |

(1) 99 5 9 8F &1 W E & 3Tgsma IRA0N i G&n = 364

364
LR = 3

365
(2) 5 At & R & g w Wiehdl

1-pE)=1-%4_ 1
365 365
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41.

42.

Tgsior AABC § [BF90°, AB=12cm,BC=16cm, AC="?

AC = AB? + BC? = \[(12)2+(16)°

= /144 + 256 = /400 = 20 cm

A
12cm

B H90° C
16 cm

AT foh TR 9qys & " A =(1,2), B = (4,y), C = (x, 6) @

D=(3,5) © |

T WA € foF g =qs & foel wem gmfgated o € |

31a: fawel AC & #=a fag & feena =

EM 2+6j: (4+3 y+5j

2 2 2 2
(34 @)
L2 2

7 .

2:E ........................ (1)

H9i|T4=y;5 ........................ (i)

g0 (i) ¥ 2+2x=2x7=14

q, 2x=14-2=12
53 2 =6
THE (i)W, y+5=4x2=8

q,y=8-5=3

fowtl BD & men fog & fdens
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43.

A X=63Ny=3

S5X + 7y =50 ........c...... (1) TX+5Y =46 ... (i1)
5x=50- 7y 7X =46 - 5y
3 20-7Y B R
5 7
X| 10] 3| 44 7.2 X | 657] 3] 5.14
vy 0|5 2 y | O 2

f9g311(10,0),(3,5) (4.4/4),(7.22)  T9837(6.57,0),(3,5) ,(5.14,2)(7.2,2)
F WE TR TR MR THAH | FH WE TR | MR HAH |
o (i) +1 serE e | TqHo (ii) =1 @ fHerm |

Sl el 1 e fog (3, 5) ©

3d: 8 X=3,y=5
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44, o T THR # =© AB T

PR [CAB &=t 991 § [APR =60° [RHB =30°= [PBQ

TR T e PQ = 7 Hio

319 THhvl APQB 9

PQ_7m
QB OB

o

QB =743
19 guehiot AARP 9

tan 30° =

tan 60° = 22
PR
AR
3= 22 -PQ=0QB =73
V3 73 PQ=0QB =73
=AR=7J/3x+3m=21m
31d: HHAR &1 %9 = AB=AR+ RB = AR+ PQ (RB = PQ)

=2Im+7m=28m

T
o 6 e &+ 9 AC=x #0 © | A
WACBP@tan4°:% Y
13 2 or BP=20m . \
ST AABP & tane0e = AB= BC* AC 6o o
BP BP A ~=p

78T BC=20 Hi0 AC = x #i0, BP= 20 0

ﬂz% or 2043 =20 +X
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45.

46.

47.

[xF 20+/3-1=20x (1.732- 1) = 14.64
3; AT A HI H9E = 14.64 O

el =T 3T = gﬂr3 = g X X (4.2)° cm®

Ife de™ HI 9 hem & i

Se H1 A = rh = x (6)°x hem®

WRATTHN, dedd ohl ATIAAT = el bl AT

nx36xh=gnx4.2x4.2x4.2

e ﬂ X T X4.2%x4.2x4.2 _ 42x4.2x4.2 —274cm
3 T X 36 27

oty gfasn- w9 o T AABC 3k ADEF o

A D
[B* [Ede1 [CF [F1 ' / \
firg &0 & AABC [ADEF . Ep _ DF
-

(‘b)
Icqfa AABC [CADEF &5 SHd @ T

[A¥ [B+ [CF180°qen [D¥ [E+ [EF180°

[TAY [BF [C* [DF [EF [F1
7 [A¥ [BF [C* [DF [EF [F(fF U g9+ 9)

T [Ak (D]
39 YR M AABC 3iR ADEF @Hahiforer 8T stefq [Al= [D]

[BF LEILCFE LF
3d: HIV-HIU-kU RGN 9 ADEF [ADEF

AT & =0T:-

-1 95 O & &5 @k 5 W0 #Ho == &1 Th ga @=T |
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-2 gd hl S =A™ POQ T |

=0- 3 [QAC =60° 38 YR s=rA fe OC 9a 9§ fag C W et |
- 4 PA (PR3 CB [OC @1 |

T4 THR PA 31 CB T S &1 fag D R wfa=ss &4l |

@l DP iR DC 9a &1 e1efiee wogf &g 8 st 60° & v W g T |
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1o

= &% =0-1 AB = 8cm ©iET |

- 2 fag A W = F0 99 gL @ AX Eie |

-3 AX W 3+2=5 IR 9@ @d gL AL, LM, MN, NQ, QC i
aar L, M, N, Q, C faa |

=R~ 4 C-B i fHamiw |

=X~ 5 e} f§g N 9@ NP || BC =i ©i=ii St AB &l P™ et © |

38 YR P fag AB &1 3:2 & U | ofa: fawifsa =t 2 |
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MATHEMATICS - ( 7Tforq )

THY : 3 HeT 15 fiee Ui : 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

Ul B el =T : 47

Total No. of Questions : 47

e & ford A -

Instructions to the Candidete :

1. Tl I U Iesl § & ST <

Candidates are required to give their answers in their own words as far Practicable.

2. Sl AR BIRA W Y gV o pfe fafde axd €|

Figures in the right hand margin indicate full marks.

3. ol g aifvaty €

All Questions are Compulsory.

39 YIS BT Ugd B forv 15 fee @1 sifaRed waw foar mam 2

E

15 Minutes of extra time have been allotted for Candidates to read the Questions.
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Set-9
q9a -~ 3 %ieT 150 i@ - 100
Time:-3 H.15M. F.M. :-100

Hel IR i\ﬁ ( Choose correct Answer)

1. 14‘5 DI RMMId YR BT |
The decimal expansion fo % is
(a) aid (Terminating ) (b) STWH_(Non- terminative
(c) SIEKI} (Repeating) (d) 371'45[ q ?bﬁg el (None of these)

2. AR o, p fGUT TZUT x2 4+ 7x + 10 T IIP 81 Al (o +B)2 BT A BT |
If o, B be tue uroes of Quadrate Polynomial x2 + 7x + 10 tuen the value of (o< +£)2 is.
(a)-7 (b) 7 (c) 49 (d) 10

3. fgond 9898 %% +3x +2 I LIS & |
The zeroes of quadratic polynomial x2 + 3x + 2 is.
(@ (-1,-2)  (b)(2,-2) (c)(-1,2) (d)1,-2)

4. WEIH FHYAUE (a,b) x FYTH AHIIGAD (a,b) IR 2 |
H.C.F. (a,b) X. L. C. M (a,b) is equel to.

a b
@ (b) (a*b?) (0= (d)axb

5. IfT 3 Cot A=4 T sin A BT HTH BT |
It 3 cot A =4 then Value of Sin A will be.

3 )3 4 "
@ OF (€ ()3

6. O TARY Ol B YO 2 ¢ 3 @ U ¥ §| TP &l BT U ¢ |
Ratio of two sides of two similar triangles is 2 : 3 then ratio of their areas is.
(a)4:9 (b)3:2 (c)9:4 (d)2:3

7. RgAaG)w@s(ea)sdaa T |
Distance between points A(3,1)and B (6,4 )is.

(a) 2V3 (b) V6 (c) 2v/2 (d) 3v2
8. 4,5,2,0,3 2 3 % 9P T |
The mode of 4, 2,5, 2,0, 3, 2,3 is.

(a) 2 (b) 3 (c) 4 (d)5

9. U gdl B IR 2 : 3 % U H B AN STB! AT BT ST 7 |
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10.

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

21.

Ratio of circumference of two circles is 2 : 3 then ratio of their raddi is.
(a)4:9 (b)3:2 (c)2:3 (d)1:3

AP UK B B g O =Rl baT BT A1y |

(@) = (@) SR (m) =1 (@) @1 T
The find mode which type of class-interval is required ?

(a) Equal (b) Unequal (c) Largest (d) None

M fog v B afe B &1 89 d e &l

Three points are collinear if area of triangle is equal to ....................

S — W g

22

— IS A e number.

7

?Zlﬁqz—4py>0?‘ﬁPx2+qx+y=OZF%‘1?f .......................... gl
Itqz— 4py > 0 thenroots of Px® +qx +y=0are.

Sin 70° = COS (wevreermmrerrennene )

LR A B 2 |

I V2sin® =17 0
Ifv2sin® =1then©

RIC R EE SR IR I G 16 RIS I I A gl

If corresponding sides of two triangles are proportional then these two triangles are ..................

gfe foe) g &) TS |, dISTE b TAT SHaTs h & dl I B U A0 B A NS .o B |

If length, breadth and height of any cuboids is |, b and h respectively. Then diagonal of cuboid is ......

IS P(E)=0.05 AT P, (EL) = eooooeerseererrn.
If P (E) =0.05then P, (E') = woeveveevererern.

g &1 IR 22cm B Al G BT ETBA ... BT |

If Circumference of a circle is 22 cm then area of circle is .......ccoeeunnee.

e fgemd 9gus S1d I forie IId! Bl RT 1 TAT TOAH 1 3 |

Fine a Quadratic polynomial whose sum of its zeroes is 1 and product of zeroes is 1
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

fgend TR x2-3 x-10=0 FT e ST TN |

Find the roots of quadratic equation x =3 x -10=0

Y &1 A e e fog 95 P (2,-3) 3R q-6,v) & 9 &1 g4 10 759 & |
Find the value of y for unich the distance between point P(2,-3) and Q(-6,y) is 10 unit.

31 g @1 Bl BT AN 140cm © 3R URE &7 <R 88cm & | By et |

The sum of radii of two circles is 140cm and difference of their circumferences is 88 cm. Find
their radii.

A.P.%a=3,d=58 dl 10 9 Ug ot |

InA.P.a=3,d=5, then find 10" term.

A BTl — Cos60° cos30° + sin 60° sin 30°

Find the value of Cos60° cos30° + sin 60° sin 30°

g I (a,b) T (-a,-b) & &1 0 Fare |

Find the distance between the pair of points (a,b) and (-a,-b)

1,3, 2 5 7, 4 9 3fds &I AIfegadT HTef |

Find median of data 1, 3,2,5,7,4, 9

Th U Bl Th IR Bl Il 2 | U 39ToT AT UTd heel a1 UTRIehal ST o |

A die is thrown once. Find the probability of getting a prime Number.
12 . .
IS tand :??ﬁ Sin@ Td Cosd ot
12
If tan® = B then find SinB and CosO

Wﬁlﬂﬁaﬁﬂﬂﬁ13cm,12cm®5cm§|ﬁ@W%%WWﬁﬂﬁ§l

The Sides of a triangles are 13cm, 12cm. and 5cm. prove that it is a right triangle.

R1g T V2 U& URHT e & |

Prove that v/2 is an irrational Number.

fgend eI 2x 2+ kx +3=0 H K & A G &N, 99 39 al KRR qA 8 |

Find the values of K for quadratic equation 2 x * +k x + 3 = 0 if it has two equal roots.

fe@rsy & (Show That )

Tan88° tan23° tan12° tan67°=1
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35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

fig @ifve (Prove That)

1+secA _ sinA 2
SecA - 1—casA

I el AP, & TR R A U< A 4 3R —8 BT a1 &I 1 U8 A ¢ |

If the 3 and 9" terms of A.P. are 4 and -8 respectively. Which term of this A.P. is zero.

X- 3187 W I8 g 31 SIAY S (2, —5) &R (~2, 9) W FHGRY ¢ |

Find the point and the x-axis which is equidistance from (2, -5) and (-2, 9)

T AHEIE S O ST 2a 2| S90 UG Ao 3 awTE 1T B |

ABC is a equilateral triangle of side 2a Find each of its altitude.

TH IR BT 3 IR BdI Wil & | 3961 T T 8 {6 5 7 T $F Ud R 37U |

A die is thrown twice what is the probability that 5 will come at least once.

fersfl g @1 URfY iR BT &7 3R 37cm. € A1 9 & &5l abref |

The difference between circumference and radius of a circle is 37cm. Find area of circle.

x+2,2x+3, 4x +5 3R 5x + 2 BT IO a9 12 8 A & 79 (APrel |
Find the Valueof x + 2,2x+ 3, 4x+ 5and 5x + 2 is 12.

qgad [Tl — (Find Mode )

T 3TERTe
. 0-20 20-40 40-60 60-80 80-100 100-120
F 10 35 52 60 35 30

T fafer ¥ g R — (Solve graphically methord )
x+y=14
x+y=4

3cm. F39901 & U@ 99 W TRl &1 Wt v Wi, S wER 60° @ B W gD B |

Drow a pair of tangents to a circle of radius 3cm. which are inclined to each other at an angle of 60°

Rrg @I 5 5/ g0 & aRTa IR g e B € |

Prove that the parallelogram circumscribing a circle is a rhombus.
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46.

47.

7 M0 S 999 & IR W U6 B9 <R B RIR o1 ST B1v7 60° & IR 39B UIS BT rae
P 45 € | IR B SHaTg oI PIToTT |

From the top of 7m. high building the angle of elevation of the top of a cabala tower is 60° and the
angle of depression of ist foot is 45° Determine the height of cabala tower.

6 Mo AT 3R 1.5 Mo T Th X § UMl 10km/h B AT & 98 @1 2| 30 e § a8 IR
forde emmher B R ex ol Srafe Riarg & forv sem Tex U @ 3Maeddar gk & |

Water in a canal 6m wide and 1.5m. deep is flowing with a speed of 10Km./h. How much area will it

irrigate in 30 Minutes. If 8cm. of standing water is needed.

https://www.evidyarthi.in/



JTIX (Answers) MODEL SET-9

1. (a) 2. (c) 3. (a) 4.(d) 5.(b) 6.(a)

7.(d) 8.(a) 9.(c) 10.(a) 11.99(0)  12. (AR#)
13. IRATAG 3R RTAH 14. 20° 15. TOU 16, 45° 17. Y
18. VI2 + b2 + h? 19.(0.95) 20. (38.5cm?)

21.

22.

23.

24,

D] BT IFTHA = + f =1
RIPT BT TUAHA = o< f=1

fgamd ague = x - (x +B)x+ B

=x’-(Dx+1
=x’-x+1
x?-3x+ 10=0
a=1, b=-3, ¢ =-10, D =b’—4ac = (-3)* — 4x1x(-10) = 9+40 = 49
_ —b+VD _ —(-3)+V49 _ 347
 2a 2x1 T2
3+7 3-7 10 -4
=T T - —=5,-2
2 2 2
x=5-2

P(2,-3) Q(-6,y)
PQ® 9T B QW \[(x, — x1)2 + (v, — ¥)*

5 10 = /(=6 — 2)* + (v + 3)°
3100 = (-8)* + (y+3)?

3100 = 64 + (y+3)?

3100 - 64 = (y+3)?

3 64 = (y+3)°
5 y+3=+/36= 46
y+3= 46
5 y+3=6 a1 y+3=—6 = y=6-3=3 I y=-6-3=-9  ~y=3,9

Wm%mwﬁﬁwh@%waﬁ%@myz%ﬂﬁm% Yy, + v, =140cm.
maﬁaﬁm{?@:ZH\/l

Wﬂﬁaﬁtﬁ@f =2TYyy

AR 2ty -2y, = 88cm.

32m(y, — v,)=88cm.
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25.

26.

27.

28.

29.

30.

B 88cm _ 88x7cm
Y17 Y2 =, 2x22

Y, — ¥, =(2x7)cm. = 14cm.

Y, — ¥, =14 cm. — (ii)

S y1 + y2 =140cm.

Y, — Y, = 14cm.

2y,=154cm. (A &I SeA W)

154
Y, = - =77cm.

~ Y, = 140cm. -77cm. = 63cm.
Y, =77cm., y, =63cm.

A.P. Ha=3,b=5n=10 a;p="?

an =a+(n-1)d
a70=3+(10-1)x5=3+9x5=3+45=48
Al UQ =48

c0s60° cos30° + sin 60° sin30°

1B, E 1,
2 2 2 2 4 4

V3+V3 _ 2V3

4 4

~ &

A(ab)Td B(-a,-b)a%‘eﬁ%ra?rfgﬁ\/(xﬁxl)z + (¥, +¥,)?

={(a+a)2+ (b+b)? =

V4aZ + 4b? = \[4(a? + b?) 3BT8 = 2y/a% + b® TR

) T 3fFS 1,3,2, 5 7,4, 9 9Gd A H T W 1,2 34,5 7,9 Yd n=7,

7+1
e = (=
TS = 4
Uh ORI &I U q18 Bl Sl & |
@A W0 1,2 34,56

3T W0 2, 3, 5,
. 3
.-.aﬂﬂvaﬂwwaﬂfra%mﬁ'cW=E=

tanf=— = —
5 BC
AB=12K; BC =5K

AC =,/(12K)2 + (5K)* = V144K2 + 25K’

=+/169K* = 13K

S

)Eﬁq?{=(§) df qg =4 9 IS =4
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31.

32.

33.

) AB 12K 12
sinf=— =——>=—
AC 13K 13

_BC_SK_35
cos®= "3k~ 13
Prqet @1 yord < e €

HHET  AC=13cm., BC=12cm., AB=5cm.

AC? = (13cm.)? = 169 cm?

AB? = (5cm)? = 25cm?

BC? = (12cm)? = 144cm?

AB? + BC* = 25cm” + 144cm? = 169cm” = AC?

=~ AB? + BC? = AC?
A A H TP Yl B G Y AT YA b Gl b AN B AR ¢ |
- T8 VP I A B |

T+ 6 V2 U aRey o &

A
.‘.\/_ = E

5 a ¥ PP B o (i)
A () ¥ 4n® = 207
3 b’ =2n’

~ b FH d & 5 b & I (ii) 3R (i) a 3R b I T4 QNS 7| 3R ST SHAFS
UGS 2 € | U BH AR & fRETN €| - V2 U ORI Wi § |

fea Y fgema wHiaRo

2x%+kx +3=0

T8 A=2,b=k C=3
D=b2-d4ac=(K)?-4x2x3=K-24

qfer fear T € f6 399 Jo1 WK |

~D=0

3K*=24

= K=+V24

=K =+ 26

https://www.evidyarthi.in/



34.

35.

36.

L.H.S = tan 88° tan23°. tan12°. Tan67°

= tan 88°. Tan23°. Tan(90°-88°). Tan (90°-23°)

= tan88°. Tan23°. Cot88°. Cot 23° (tan(90°-Q)= cotQ)
=(tan88°.cot88°).(tan23ot23°)

=IX1=1 (tanB . cotB =1)
=] =R.H.S.
=~ LHS.=R.H.S

LHS = 1+secA

secA
1

1+ ( 1 )
secA
=—71 — |\ SecA=
1 COosA
COsA

, 1 COsA+1
_ ~"cosA _ _cosA
= 1 - 1

COSA COSA

1+cosA COSA
=——x——=1cosA
cosA 1

1+cosA 1—cosA _ 1—cos* A

x p
1 1-cosA 1-cosA

_ sinzA
" 1-cosA
~ L.H.S.=R.H.S

=R.H.S.

f& T A.P.Bas=4,a,=-8
as=a+ 2d =4-(i) (an = a+(n-1)d.

ag=a+8d=-8—(ii)
a+2d=4
—-a1+8d=-8
—6d=12
oM W () T a=4+4=8
12

= _—6=-2

Aferar o n df ue T
~an=0

A, =a+(n-i)d
30=8+(n—-1)x(-2)
30-8=(n-1)x(-2)
3-8=(n-1)(-2)

3 (n—I)=_—2=4
n=4+1=5
» n=50M€a U8 T 2 |
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37.

38.

39.

40.

AfeRI & x 318 ¥ fag P(x,0) W1 A(2,-5) 3R (-2,9) § FHRY |
P(x,0),A(2-5PH A DI T =PA
J(2—x)2 + (-5-10)2
=J2—x)?2 + 25
s PA?=(2-x)*+25P (x,0),B(-2,9)
PH B & G =PB=,/(x — 2)2 + (0—9)2
VT
fear € pa= PB
. PA* = PB?
3 (2-x)°+25=(x+2)*+81
D 4-Ax+x’+25=x"+4x+4+81
D -4x+29=+4x+85
5 -4x-4x=85-29

3 -8x =56
5 x=2=7
-8

S x=-7

o x -3 W I (7,08 |

qfeRT 6 ABC UH THATg A § RRFa! Uid 4oT 2a € | ¥ AH BC W AD BCSTelT | Tfh
AD, BC 3T FHfgHTiord el & |

~ BD=DC=a (TR &) FHBIT A ABD H A

\/W(WWW@) 2a 2a

J(2a)2 — aZ =+4aZ — aZ =+/3aZ =+3a

~ AD=a+3 B ¢
a D a

&ﬁimm?ﬂwaﬁaﬁW@TﬁI <+«— 23 —>

U U Bl & GR el Ol & 3 & [=Ieiiae TR U1 8id & |

(1, 1), (1,2) e (1, 6)

(2,1), (22) oo (2, 6)

ER D IAER 2 I (3, 6)

(4, 1), (8,2) oo (4, 6)

(5, 1), (5,2 ) sovereseceremsssseoeessseeeessne (5, 6)

(6, 1), (6,2 ) cooeevrereeessseeeesssreerssee (6, 6)

fo5 & 11 2|
aﬁzwﬁwswwaﬁaﬁmﬁwzg
Jfeb foar & b g &1 uRM vd B3am &1 =R 37em. € |

“~2my— y=37cm.
3 y(@mr— 1)=37cm.
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41.

42.

43.

3 y(2x %— 1) =37cm.
5y (4 - 1)=37em.

> v (27 =37em.

=) % =37cm.

337y=37cm.x 7

37cmx 7
y=—"""=7Ccm.
37

Y=7cm.
22
. qd &l &0 = Ty2 =7x(7cm)2

22 )
=7 x7cm.x 7cm =154 cm

g BT &0 = 154 cm?
ﬁﬁ@qﬁx+2,2x+3,4x+5,5x+2
e = Al B G AN

Al B g o
qJT 12 = (x+2)+(2x+3)+4(4x+5)+(5x+2)
12x+12  12(x—1)
312 = 2 = 2 =3(x+1)=3x+3

533x+3=12=123x=12-333x=12-353 x=%

T IR RN
C. L
0-20 10
20-40 35
40-60 52
60-80 60
80-100 35
100-120 30

3x

=3

J8 HEY SUTQT IRARCT 60 & Wil 60—80 AW & FHIC AT @ | 3 Igefdb a7 60—80 T |

~ 1=60, fo=60, f 1=52,f,=35,i=20

fo™f_
Mo = | + ————— — xi
2f0_f_1_f_1
60—-52
=60+——— x 20
2x60—52-35
=60+ x20=60+
120-87 120-87
x+y=14 x—y=+4%
Sy=14—x 3 y=x—4

160
x20=60+§ =60+4.84=64.84
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44,

45.

0 14
14 0
0 4
4 0

Y (0,14)

14

101

8 -

6 -

4 4

P (4,0) (14,0)
~ I | [ | | I [ v
42 o2 /4 6 8 101218 x
2
-4—1(0,4)
Y

TH W & TG § b QM Gl @ 5 (9, 5) W FIel 5| 3 8d x =9, y =5
O] —

A
(i) 0 BT Bvs AR 3cm 3T BT U g Wl | E
(ii) g BT AT AOB Al | 4 A
(iii) 0T < BOC =60° 41T | IE UF OC Jd 4 cHaAar &1 D cs

(iv) {85 A T < 0AD = 90° T TAT CWR < OCE =90° §™T | AD 1L OA TT CE 1 OC.

(v) HAFICRAT AD 3R CE WRER P W Yfdws &¥al & | PA T4 PC g @I &I WY &I § Sl
oo H 60" TR P © | < APC = 60°.

AMIeRI & U& g @ @75 08 | 90 WHIR Igval ABCD & aRI YSlell Bl PHa: P, Q, R
Td s favgell W e oeeh €1 Af el el fog 9 99 W @ et Y aReR Bkl
~ AP = AS
BP = BQ R

o )

DR = DS 0
S AP +BP +CR+ DR = AS+ BQ + CQ + DS
3 (A4S + DS) + (BQ + CQ) = (AP + BP) + (CR + DR) S Q

5 AD + BC = AB + CD
5 24D = 24B (+ AD = BC)
- AB = BC (AB = CD) A p B

https://www.evidyarthi.in/



46.

47.

~AB =BC =CD = DA

» ABCD U%h a4 & |

qHferar fb AB Wad @ FaTs 7 W0 8| PQ Hdel TR Pl HATS hm B |
< PAR =60°

< RAP =45°

~< AQB =45°(BQ11 AR)

AB =RQ = 7m.

ABfotan45° - 1 ==

Q
5BQ = 7m.BQ —AR = 7m.

: PR PR
APAR Htan60° = — 1= —
AR 7

5V3 =1 5 PR=7V3 m.

A R
60
m. R 45° A
7 o
v Q B

R B $A1 h=PQ=RQ+PR =7 m. + 7v3 m.= 7(1 + 3 )m.= 7(v3 +1)m.

TeX DI 10 = 6 WO TS = 1.5 {0 T & T = 10km/h. 10km = 10000m.

=60 e # T 10000 M0 X TF BT & |
10000

60
10000

. 1 “ “

.30 “ “ x 30 = 5000 H10

=30 X 0 X TS
=5000 HI0 X 6 HI0 X 1.5 HI0

= 45000 #’
RarE @ folv 8cm TER UMY @I AMITIHT B |

DIEICIRCIDGE]

UHT BT TS

45000x100 )
= 8 = 562500m

- &= gri Riferd &o =

45000
T8

100
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e (¥E-10)
Math (Set 10)

|HYT : 3 HeT 15 THAe
Time - 3 Hrs 15 Minuts

TqE I A -

Choose the correct Answer :-

1.

03 F T 9 § @aH &9 €

=3 o 2 1
) 7o @ 5 W] 3
Sinplest form in rational formof (3is ..

2 > 1
® o I ©3
3+243 R
(%) afET =. @) g (M) = =
3+243 is

(@)Rational No. () Irraticel No.  (C)Fractional No.

TG x*+5% — 6 I 5 &l

@) 0 @ 1 @ 3
The degree of polynanial x°+5x—6 is

@0 b 1 ©3

fgoma gt &1 9% &9 2

(h) ax’ +bxtc @ a¥ -Ix+c
M af+bx+c=0, a: 0 M alf+c=0
Standard form of quadratic equation is .

(@ ax’ +bxtc ) at -Ix+c
() a@+bx+c=0, a: 0 (d) af+c=0
A. P. FINA TEETE WA R a, AR d @

@) a+ (1) d @ n-1)d M a+rd

Full Marks : 100

@2

M a-nd

The n™ term of an A.P. when first term is a and comman difference is d.

@ a+ @l d O h-1)d () a+rd

https://www.evidyarthi.in/
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14,

T+t 9q & 1

() T @) T () e (%) 9 § FE T

All circles are

(@) Congruent () Similar (c) Non - Similar (d) Nore of these

5P (-4,5) HYER 1

@) 4 @ 0 m -4 @5

The doscissa of Roint P(4,5) is

@4 © 0 © 4 @5

l+{an2A .

- TR B 1

(@) sec’ A @ -1 M cot? A (® tar’ A

1+ tan 4

mise:malto

(@) sec’A 0 -1 (€) oA (d) tarf A

TF g4 HI fpat o9l Yard & gt 2 1

@) 1 @ 2 @M ® 3

How many tangents can have a circle ?

@1 © 2 (© Infinity @ 3

it F qon v faswel % 9 F U e €l 1

Gh) 21 @ 1:.2 M1i:2 ®2:1

The Ratio between side and diagonal of a sauare is

@21 ) 1:2 ©1:2 @2:1

;—0 THF oo <YM TER 2 1

;—Oisa ................... cecinal eqarsion

TH I I TEIR oo Fead 2l 1

Rolymanial of dagreegeis@lled covevinn..

sin? 40° + cos? 40° TR wvnr.. T Tl 1

sirt 40 +aF 40 ISEIBITO vvvvrreinnnnneennn.

geft FATE SR e, e R 1
2
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TEEh=3KX ...uvunnn —-2xHH 1
MoE=3%.iiieiinnnnn. — 2 xmean

B b € AP WBS caimisssssissi . 1
Ifa b carinA. P.teanb=.veeeeennnn.

I THT Bl oo, %8 5 2 1
Thele's thearamis aalled .. ........

forddt ga o Tael W B W i, et 21 1
hadrle@ETiS veveeeneenss atterdils

P =T E # WP (E) + P (E) = oo 1
RrayeatE P E) +P E)=..cccceueeee

Fd (0, r) "BV ¢ T TGS & WG A9 B 60 = 1
Inacircle (o, r) legthof correspadingsectorhavirgangley iS..vveeevenenn.....
Ifaere fasem Teifiem o 867 W 255 &1 H. €. A&t | g
Using Ecluid's Division Algorithum find H.C.F. of 867 and 255

A ETER Yy = p (x) & IS & 97 e | 2

Find the nurber of zerces of polynanial v=p (x) fran the following graph.

4 /o
/

—

4

ﬁwawamﬁaﬁwﬁwﬁnqﬁwm:ﬁ@%% 2

Fird quadratic polynamial if sumand product of zerces are 2 and% respectively.

a b c
j,jqﬁjﬁwm@mﬁ%ﬁwaﬁwwﬁr%mm
2 2 2
4 _ _
§x+2y—8,2x+3y—12 2
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27.

33.

a b

c

By camparing a_]’ b_l andc_] find the following equations are Consistent
2 2 2

orjlmwsistmt%x+2y=8,2x+3y=12

A. P. dWHTE R AR = 10, d = 10

Write first five tenms of A, P. if&=10,d=10

T THEY AHfaael I & I 3T ]

Give two exanples of pair of two similar figures.
sin” 63° +sin” 27°
cos’17° +cos® 73’

e e |

sin® 63° +sin* 27°
cos?17° +cos* 73°

Evaluate

UM YR o 5591 T9 90F S9E o et SoF Ud Yish o SFae &
I 3:1 B © | g W

Having sare radius of kase and equial height of cylender and core, the
ratio of wolures between cylender and cone is 3:1 Prove it.

JY U9 Wiehd HeAst w1 "ied e |

Find the mean of first five natural nurbers.

52 T4 I TSl W UH TEHT RIeH H Wifasar 9d & |

Fird the prabability of drawing an ace fram 52 cards.

3.5 cm WWWWWWWWI

Fird total surface are a of henisghere of radius 3.5 an.

015 =i UfHg Hem %1 oEd ¥4 § S8fa |

Carvert 015 in the sinplest ratianal no. form.,

g 99 %% - 2x - 8 % YA I (T |

Find the zerces of the quadratic polynanial ¥ — 2x — 8

T GEmEt & o H SR 180 T BRI HSA H a1 a€l GEAl H S
T B SH e fee |
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37.

The difference of two squares nunkers is 180 The squares of amaller rno. is
8 times the larger nurber find both mnbers.

A sihl B FEc gEAd 3 @ yoia: fawiied @ ¥

How many two digit nurcers are divisible by 3 .

fe@ ™ fe= 4 pE ||BC @ EC f@Te |

In the given figure [E|| BC find EC.

B Cc

fagd (5, -6) 3R (-1, -4) Fl St W@vE Y — 1% FI g
I o fasfoa wet 2

Fird the ratio inwhich the Y-axis divides the line segrent joining the
pairts (5, —6) ad (-1, —4)

fag =ifsg

cotA- cosA cosced- 1
cotA+cos A  cosecA+1

Prove that

cotA- cosd cosced- 1
cotA+cosd cosecA+1

BEIfhd 97T T &A% HG HITT A% Gh= gdl &I AT HHEI: 7 cm

Td 14 cm @9 P Aoc = 40° 2

Firnd the area of shaded region of raddii of concentric circles are 7an

and 14 an respectively and DRoc = 40",
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afg A, B, ¢ s ABC & & ®iw ? qf feed fF | 3

. ®B+Co A
sin g ~=C0S—
2 © 2

If A, B, and C are three angles of a triangle ABC then show that

. a&B+Co A
sin g <= COS—
2 9 2

T T I TH 9K el S 7 | 2 3R 6 % s feom wE wem o &
1 WifgeRar € ? 3
A die 1s thrown once. what is pracabi lity of caming any nurber 1ying between
2and 6 ?

A e 3
Yredieh 20 29| 28| 33| 38| 43| 25| 42| 9

THREA 6 28] 24 15 4 1 20 |2 | 100
Find median
Marks 20 | 29| 28 |33 [38 |43 |25 |22 |1otal

No. of Students | 6 28 (24 |15 |4 |1 |20 | 2 | 100
e fafy | ga &Y 5
X+3y= 6

2% -3y =12

Solve by graphically Methed

X+3y= 6

2x -3y =12

TH 80 m. W GSH b A AR FHA-HEA FHH TG Al § T ohl g 2l 3

I N ® = qgF P TF fag 9 @S ® R & ST w0 HE: 60° 3R 30°
T T H FEE O w9 fag w1 gl T W 5

Two poles of equal heights are standing coposite each other on either side of the
road which is 80 m wide. Fram a point between them on the road the angles of

elevation of the top of the poles are 60 ard 30° regoectively. Fird the height of the
poles and distance of the point fran the poles.

afz fRet 99 &1 T o1 & FARR o= J1 senetl 1 fy=1-fa= fagetl w ufa=ss
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FE & AU Tk T T S @ 9 o @ e U @ ea | fawfsa @ s
21 fag =% 5

If a lire is drawnparallel to ae sice of a triamgle to intersect the other two sides in
distinct points. The other two sides are divided in the sare ratio. prove it.
FEE 220cm SR YR A9 24 cm el Th S, 59 W F9E 60 cm @R B

8 cm 9 TH 379 9o ARG €, § @ &1 TF WY 99 21 70 TY F 391
A HIfS Safek fGa & fF 1em® @R &1 599 sgm =4 81 (p = 3.14) 5

A solid iron pole consists of a cylinder of height 220cm and base diameter 24am
which is sumounted by another cylinder of height 60 anarnd radius 8 an. Find the
mass of the pole given that lar’ of iron has approximately 8 gnmass. (p = 3.14)
199 ABC @i fSH AB = 5cm , BC = 5 cm 3R CA = 7 cm 39 BIgel & o/ o
i | 5

Draw a triangle in which AB = 5an, BC = 5am and CA = 7an. Draw an incircle of
thiscirdle.
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23,

SWANsSwer

1. 2. @ 3.0 4. @)
5. @) 6. @ 7. 8. ®
9. @ 10. @ 11. 5 12, sk Tg.
137 14. 96T 15. Wi
atc .
16. — 17. STERSA GHEAI R TH5 18. ol
prq
19.1 20. 1307

Ifere faarem weifien fafy @ ¥em 867 wd 255 &1 1. 4.
867 = 255 * 3+102
255 =102 * 2 +51

102=51 " 240
37q: 867 WA 255 I H. H. = 51 Ans.

e T oeRg # SER Hfeh WE T — el I dhed U fag W At wd @
THfeTT YR H 1B

- <

v

Y

S HAMFA = 5 +B=42

: : 1
[ & POHRA = d B:E

fgoma sgu= b x’- (@ +B)x+a B
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24.

25.

fe& T g

b x*- (\/E)er%
p xz-JEx+%
4

—x+2y=8

3 y

\ %x+2y-8=0

2x+3y=12

\ 2x+3y-12=0

FHIRTOI ST S & ax + by + ¢, =0

%X+@y+%20

fe T iR % A0 T Y ol FH Wa, = 4/3, b, =2, c, = -8

4
&

%]
w | N

I 71 _9

\ a % L)

a1q : T T g sAfEd (Hd) )

A. P.Ha=10, d=10

Tecl 9 a, =a =10

M ®a, = atd = 10 + 10 = 20

WA Ra, =a+2d=10+2 - 10=10+20 =30
FFHRa, =at3d=10+2 " 10 =10 + 30 = 40
T a, = a+dd = 10 + 4 - 10 = 10 + 40 = 50

9

=2, 583, ¢ =1
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26.

27

28.

T IEEY Hfaa TH F I
(i) 1 o oT9"  9HEy B
(ii) = 399 ¥ THET 2|

sin2630+sin2279  sin?63%+sin(90°- 63°)
c0s217%4c0s273° ~ cos217%+cos%(90°-1700)

_ sin?63%+c0s?63 i e §
" cos2170+sin2170 " > 0q)=cos g, cos B0 ) =sing

—_ ] —
]
e

=12ns.
M foran foF aeq & SuR 1 559 r 3% U9 S9E h SHE © |
ol ¥k b1 5591 = r ShIE T H9E = h THE

) : 1
I FT AT = p £’ h T TR, VG F A = 7 p r’h T IPR

e e I i i S A2 & W=

Yich 1 T éprzh‘q:{m

I¢E_H IFAd 3

Yieh, h1 3T 1
9 Ui Wehd GEAW 1, 2, 3, 4, 5 B
e =  GEASd H1 Hel AT

\ e I ST ; Y I A = 3 ;1

HA "&A
14243+445 15 _,
- 5 5
T (y) =3

AV H TS HFATI R E. = 52 TFh hl HA 9. — 4
3Td: AR I TSS! ¥ Uk UFR! (hrer i Fifenan

= O Bl TS A TaDT DI G 9.

arer 3 TSI A U<l Dl fd W

52 13 10
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3. T W agme # B r = 3.5 cm
AEMA B HOI TS H 0 = (2priipr’) T OTHEE
= 3p r? o K THE

= 3 2?—2 35¢m” 3.5¢m

=37 22 " 0.5cm " 3.5cm

= 115.5 cm?
32. WHfea@ o x = 0.75
P x=0.151515........ (1)
P 100" x=0.151515........" 100 (100 ¥ Sl T TOT HE W)
P 100 x = 15.151515 v uuurvrnnnnnnnsennns (ii)

(ii) ¥ 9 (1) & LA W
vV 99 x = 15

_ 5_5

P X = 5 33
\x=i
33

Frgatrm—i

33

33. f&@ T fgomd @gug = x* - 2x - 8
b M 4Ax + “Eh- 8
P x (x-4) + 2 (x-4)
b (x-4) (x+2)
\ X2—2x—8?m'l“’ﬁ'l.'m"%%rq
X -—4=0 AAx+2=0
px=0+14 p x=0-2
b x=4 p x=-2

\ YEh = 4, - 2
11
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34.

35,

aHfern foh ) HEd x iR y ® e x @€t gem u y s wem B

x? - 18x+10x - 180 = 0

p
b
p
P x(x -18) 410 (x - 18) =0
p (x-18) (x - 10) =0

p x - 18) =0 A x +10 = 0

p x =18 =0 x = -10 §9a &I
x = 18 &I AN (ii) ¥ WH W

= 8x = 8" 18 = 144

qN, y? = 144

\ ¥P = 144 = £ 12

\ SEI 90 = 18, Bl €0 = 12, A &SI W0 = 18 BRI & = - 12

T SRl R GEAd o 3 9 qufa: farfea @ f @
12, 15, 18 cceerrvrernenn. 99

A, p. GBI NER UM TR 2 = 12
IR d = 15 - 12 = 3

HiH 9 a2, = 99

a =a+ (n-1) d
p 99 =12+ (n-1) * 3
p 99 -12= (n-1) * 3
p87=(-1) * 3

L .
b3—(n—)

12
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36

38.

\ n=29+1=30
37q: /A FE&AW = 30
f&an g3 ® DE || BC

\ o THE 9
AD  AE

DB EC 1.5om 1E°“

1.5¢m lem 3em

3em B EC

- 3em” lem )
= = icm
P 1.5¢m

EC =2 cm

HEfer fof v - 31 fagell (5, - 6 ) W (-1, - 4) FISISERT WEE k : 1 & A
H fawfsa &t 2l

\ faSH g ¥ 39 W@EvE H k ;1 % UM ° g s fag &
oot B

e k+5 -4k- 65

Erk+1 k+1 0

gy - MM RAARZINETATHEHy - TR YT x = 0 eE@TLl

k+S_
k+1

\

p — 186 =0 p k=5%
I (k1) =5: 178

cot A- cos A

L.H.5. =
cot A+cos A

13
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5

cosAs - 1=
sind @
= 1 pes
cosAg +12
sind @
! 1
sin A
fr— .l +1
sin 4
B cosecA- 1 A a0
< emeedwr | s SRRVE

39. 98 gd i B9 = R = l4cm
Sea@EE &1 &I = g = 40°

a2 fisa@s oac &1 g4a%a

i 2 S
pRq _ = 14714740

360° 360°

B I@E OBD #1 4T = };goqo (BR gd &l &5 = r = 7 cm)

277 400 gl |,
= = O
360° 7

\ BHEIfha 9 1 &% = 98 a@us OAC T &% - B s
OBD h1 &F%ha

22 S | 22* 7,

cm® - cm
9 9
616 , 154 ,  616-154
= —Cm - —Ccm = —CH
9 9 9
— ﬂcmz - ﬂc =51.33cm
9
14
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40.

41.

42.

&9s aBC #
ba + P B+ DPc = 180°

\ P B+ P C=180°-A

PR+DC 180° A

b z s=—=% (A TWF 2 ¥ 9 1 W)
E)B+BC_ , A _
—2 = 90°% - 5 T (1)
T WH sin o W
. @B+Co _ , A
Sin & ) 5= sin (90 —?)
4 ; 0
= cos 5 (Sin(90"-¢g ) = cosgq )
&B+Co

: A
5 — Cos & proved

\singzé

S Ueh U I ekl ST ® Al el YW 9ROMH 123,456 € 1d a6 2|
2 3R 6 % ofta feord |0 = 3,4, TH 5 © IUfd Hot Huw wfom 3 7

5 2 3R 6 B T feor T A Wi - %%
PlIED foemetfai =t 4. Tadt IRER
(q@d FH W) £
20 6 6
25 20 26
28 24 50
29 28 78
33 15 93
38 4 97
42 2 99
43 | 100
N = 100
TN = 100
% = % - 50 = 99 B

15
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TSN (N B
Hd: Ech] = > GT'QHQE gaTq?(‘q;"[ﬂT%Z[
= 509 TS 51 ° 9 1 HEA

FET 50 & 95 28 WH 51 &f U8 29 %

1 1

HITeehT = 5 (28+29) = = 57 = 28.5

HIfeT=h] = 28.5

X+3y=6-—-—-- (1) 2x-3y=12 —-—=——-————-
(1i)

6-x 2x-12 n T
\ Y= T \ v =T L
FEROTH ] B AL il i o 1
x| 063 x|0 |63
y 20 1 y-4 0-2
o
3 -2
I GRUT 9F &l AH TR W
W | THE T @3 Hl 3ed !
w1 He fag (6, 0) fooman & ' 4

A R R EAx = 6, v = 0

a1 foF WM SEE hm ® 3 @H AB 3R CD ® BD HSH i HISE 80 m 2l
HeHh & o fag 0 W AB 3R CD &1 &1 I=1F IV HAW: 60° T 30° 2

AMHROB=xm \ OD= (80 - x) m A ¢
A ARO H,
h
tan 60° =L i hm
OB
a0 300

h e D
b \/5 =— =SR-SR

X

16
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45.

\h=xJ§m ............ (1)

Acpo #®

tan 30° = o

an = oD
R

P57 %0-x

k="

(i) 3 (1i) 9
80- x

x V3 ="J

pxﬁ'ﬁzBO—X
P 3x = 80 - x
P 3x + x = 80
P 4 x =80

80

\ x=7=20m

x HAF (i) HWH Wh = x3m =20 3 m

3T TY HT HEAE = 20 Bm

T @Y "EHh b fag I qh = x = 20 Wo

\ TR EH g HEF h fag i g =0D=80m - 20m =60 m

HHferan f T et fean @ e s Be % wHRR i T T e o= |
el AR 3R AC W HHY: D AR E W Hd 2l

AD AE
g & % IE2) E—E

FAEE - B AR E @ ¢ 3R D I T4 TS DMA AC AT ENA AB @ |
JHTOT - A ADE H

17
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1 1
A ADE T &0 = 5 M0 © FO = —AD © EN
1
\ ar (AADE) = - AD ° EN
A BDE H
1
ar (A BDE) = 5 DR EN
1. ,
—" AD " EN
ar(AADE) 2 4D
\3qa: —= l ] : —— _U_)
ar(aBDE) 5 DB EN DB
T YR
1
ar (A DEC) = 7 *EC * DM
1
ar (ADE) = - * AE * DM
e E
— " AE" DM
ar(AADE) 2 AE B
¥ ar(aDEC) R

9fh ABDE T8 ADEC U & YR DE q HR WS BC Td DE & o9
¥4 < frqe & 921 DE ||BC |

\ ar (ABE) =ar (AEQ) (iid)
(1) (ii) W& (iii) QEHUG B

AD  AE
ﬁ= E T2t fag & o

46. e oM i e v, = =2 = % cm = 12 cm

h, = 34 = 220cm
TE! S W1 3TRIGH = p k= 3.147 12cm © 12cm © 220 cm = 99475.20 cm?
39 W ARG oo 1 B v, = 8en,

18
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47.

h2 = ﬁ'l’é = 60cm.

39 A H ST = p 1, h

2
= 3.14" 8cm "~ 8cm © 60 cm
= 12057.60cm’
3d: WH I hel A™AT = 99475.20cm?+12057.60cm?
= 111532.80cm?®
lcm® ©IR o1 S 8 gm 2|
\ 111532.80cm’® @@ I FFAA = 111532.80 " 8gm
= 892262.40gm

B 8922640 )
- 1000 g =
892.26 kg

T % =

(i) Wed 9=l ¥ Th AABC &d @1

(ii) B9 & 9 F01 B 3R ¢ TEigHKM FW 21 89H wfa=ss fag o 2
(iii) 0 ¥ 0D, BC W &4 STeT |

(iv) O %l %5 AL 921 oD 553 @it T 9q @i | 98 9d AABC i ol
IS Hl WY wEM | FE & 94 2

*xk

19

https://www.evidyarthi.in/





